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1) Read the passage given below carefully.

I was delighted when mother’s first attempt was unsuccessful. We had gone to tea at the home of a local dentist
whose son, Freddy Volpe, a lad about two years older to me, took me aside and warned me not to let myself be
sent there. With great skill and vivid description he drew hideous pictures of what went on there and told me that I
should hate the school as much as he did. Then one dreadful afternoon my mother told me that I had ‘got in’. I
wept. I went to my room and cried myself to sleep. Within a few weeks later, I did have to leave home, I did so
with tears and lamentation.

(School days: Raising the Wind; Gilbert Harding)
Which of the following statements about Freddy Volpe is true?
[Question ID = 13497]

1. He convinced the narrator to join school [Option ID = 23987]

2. He disliked his school [Option ID = 23988]

3. He was skillful at drawing pictures on paper [Option ID = 23986]
4. He was the dentist’s only son [Option ID = 23985]

Correct Answer :-
» He disliked his school [Option ID = 23988]

2) Read the passage given below carefully.

I was delighted when mother’s first attempt was unsuccessful. We had gone to tea at the home of a local dentist
whose son, Freddy Volpe, a lad about two years older to me, took me aside and warned me not to let myself be
sent there. With great skill and vivid description he drew hideous pictures of what went on there and told me that I
should hate the school as much as he did. Then one dreadful afternoon my mother told me that I had ‘got in’. I
wept. I went to my room and cried myself to sleep. Within a few weeks later, I did have to leave home, I did so
with tears and lamentation.

(School days: Raising the Wind; Gilbert Harding)

Why was the narrator happy?
[Question ID = 13493]

1. He got admission to the school [Option ID = 23970]

2. He liked the description of the school [Option ID = 23971]

3. He did not get admission to the school [Option ID = 23972]

4. He was going for tea at the dentist’s place [Option ID = 23969]

Correct Answer :-
» He did not get admission to the school [Option ID = 23972]

3) Read the passage given below carefully.

I was delighted when mother’s first attempt was unsuccessful. We had gone to tea at the home of a local dentist
whose son, Freddy Volpe, a lad about two years older to me, took me aside and warned me not to let myself be



sent there. With great skill and vivid description he drew hideous pictures of what went on there and told me that I
should hate the school as much as he did. Then one dreadful afternoon my mother told me that I had ‘got in’. I
wept. I went to my room and cried myself to sleep. Within a few weeks later, I did have to leave home, I did so
with tears and lamentation.

(School days: Raising the Wind;: Gilbert Harding)

Why was the afternoon dreadful for the narrator?
[Question ID = 13494]

1. He had to leave his mother [Option ID = 23973]

2. He had to leave his home [Option ID = 23974]

3. He had got admission to the school [Option ID = 23975]
4. He was not admitted to the school [Option ID = 23976]

Correct Answer :-
» He had got admission to the school [Option ID = 23975]

4) Read the passage given below carefully.

I was delighted when mother’s first attempt was unsuccessful. We had gone to tea at the home of a local dentist
whose son, Freddy Volpe, a lad about two years older to me, took me aside and warned me not to let myself be
sent there. With great skill and vivid description he drew hideous pictures of what went on there and told me that I
should hate the school as much as he did. Then one dreadful afternoon my mother told me that I had ‘gotin’. I
wept. I went to my room and cried myself to sleep. Within a few weeks later, I did have to leave home, I did so
with tears and lamentation.

(School days: Raising the Wind; Gilbert Harding)
Which place does the phrase ‘went on there’ in the given passage refer to?
[Question ID = 13496]

1. Freddy’s home [Option ID = 23982]

2. The dentist’s clinic [Option ID = 23983]
3. The dentist’s home [Option ID = 23984]
4. The school [Option ID = 23981]

Correct Answer :-
e The school [Option ID = 23981]

5) Read the passage given below carefully.

I was delighted when mother’s first attempt was unsuccessful. We had gone to tea at the home of a local dentist
whose son, Freddy Volpe, a lad about two years older to me, took me aside and warned me not to let myself be
sent there. With great skill and vivid description he drew hideous pictures of what went on there and told me that I
should hate the school as much as he did. Then one dreadful afternoon my mother told me that I had ‘gotin’. I
wept. I went to my room and cried myself to sleep. Within a few weeks later, I did have to leave home, I did so
with tears and lamentation.

(School days: Raising the Wind; Gilbert Harding)
What does the phrase ‘cried myself to sleep’ in the given passage mean?
[Question ID = 13495]

1. To cry in order to sleep [Option ID = 23979]
2. To cry until one falls asleep [Option ID = 23978]
3. To cry in sleep [Option ID = 23980]



4. To cry continuously [Option ID = 23977]

Correct Answer :-
e To cry until one falls asleep [Option ID = 23978]

Topic:- DU_J19_BELED_T2_NEW

1) Read the passage given below carefully.

The nuts seemed to disappear early in the morning while I was still in bed, so one day I surprised everyone,
including myself, by getting up before sunrise. I was just in time to catch the culprit out of the Walnut tree. She
was an old woman who sometimes came to cut grass on the hillside. Her face was as wrinkled as the walnuts she
so fancied, but her arms and legs were very sturdy. "And how many walnuts did you gather today, Grandmother?”
I asked.

“Just two,” she said with a giggle, offering them to me on her open palm. I accepted one, and thus encouraged,
she climbed higher into the tree and helped herself to the remaining nuts. It was impossible for me to object. I was
taken with admiration for her agility. She must have been twice my age, but I knew I could never get up that tree.
To the victor, the spoils!

( Trees from my Window; Ruskin Bond)
Which word of the following does not describe the old lady?
[Question ID = 13500]

1. Agile [Option ID = 23997]

2. Sturdy [Option ID = 23998]

3. Surprised [Option ID = 24000]
4. Wrinkled [Option ID = 23999]

Correct Answer :-
e Surprised [Option ID = 24000]

2) Read the passage given below carefully.

The nuts seemed to disappear early in the morning while I was still in bed, so one day I surprised everyone,
including myself, by getting up before sunrise. I was just in time to catch the culprit out of the Walnut tree. She
was an old woman who sometimes came to cut grass on the hillside. Her face was as wrinkled as the walnuts she
so fancied, but her arms and legs were very sturdy. "And how many walnuts did you gather today, Grandmother?”
I asked.

“Just two,” she said with a giggle, offering them to me on her open palm. I accepted one, and thus encouraged,
she climbed higher into the tree and helped herself to the remaining nuts. It was impossible for me to object. I was
taken with admiration for her agility. She must have been twice my age, but I knew I could never get up that tree.
To the victor, the spoils!

( Trees from my Window; Ruskin Bond)
What does the phrase 'To the victor, the spoils’ mean
[Question ID = 13503]

1. Victory spoils us [Option ID = 24009]

2. The winner gets the reward [Option ID = 24012]
3. The winner gets spoilt [Option ID = 24010]

4. The victor gets punished [Option ID = 24011]

Correct Answer :-
« The winner gets the reward [Option ID = 24012]



3) Read the passage given below carefully.

The nuts seemed to disappear early in the morning while I was still in bed, so one day I surprised everyone,
including myself, by getting up before sunrise. I was just in time to catch the culprit out of the Walnut tree. She
was an old woman who sometimes came to cut grass on the hillside. Her face was as wrinkled as the walnuts she
so fancied, but her arms and legs were very sturdy. "And how many walnuts did you gather today, Grandmother?”
I asked.

“Just two,"” she said with a giggle, offering them to me on her open palm. I accepted one, and thus encouraged,
she climbed higher into the tree and helped herself to the remaining nuts. It was impossible for me to object. I was
taken with admiration for her agility. She must have been twice my age, but I knew I could never get up that tree.
To the victor, the spoils!

(Trees from my Window; Ruskin Bond)
What does the phrase ‘helped herself’ in the given passage mean?
[Question ID = 13502]

1. Plucked and collected [Option ID = 24005]

2. Took herself out of trouble [Option ID = 24007]

3. Stretched for the higher branches of the tree [Option ID = 24008]
4. Tried to climb the tree [Option ID = 24006]

Correct Answer :-
e Plucked and collected [Option ID = 24005]

4) Read the passage given below carefully.

The nuts seemed to disappear early in the morning while I was still in bed, so one day I surprised everyone,
including myself, by getting up before sunrise. I was just in time to catch the culprit out of the Walnut tree. She
was an old woman who sometimes came to cut grass on the hillside. Her face was as wrinkled as the walnuts she
so fancied, but her arms and legs were very sturdy. "And how many walnuts did you gather today, Grandmother?”
I asked.

“Just two,” she said with a giggle, offering them to me on her open palm. I accepted one, and thus encouraged,
she climbed higher into the tree and helped herself to the remaining nuts. It was impossible for me to object. I was
taken with admiration for her agility. She must have been twice my age, but I knew I could never get up that tree.
To the victor, the spoils!

( Trees from my Window; Ruskin Bond)
What encouraged the old lady to gather more nuts?
[Question ID = 13501]

1. That the narrator was impressed with her agility [Option ID = 24004]
2. That the narrator appreciated her [Option ID = 24002]

3. That the narrator giggled [Option ID = 24001]

4. That the narrator accepted a nut from her [Option ID = 24003]

Correct Answer :-
« That the narrator accepted a nut from her [Option ID = 24003]

5) Read the passage given below carefully.

The nuts seemed to disappear early in the morning while I was still in bed, so one day I surprised everyone,
including myself, by getting up before sunrise. I was just in time to catch the culprit out of the Walnut tree. She
was an old woman who sometimes came to cut grass on the hillside. Her face was as wrinkled as the walnuts she
so fancied, but her arms and legs were very sturdy. "And how many walnuts did you gather today, Grandmother?”
I asked.

“Just two,"” she said with a giggle, offering them to me on her open palm. I accepted one, and thus encouraged,



she climbed higher into the tree and helped herself to the remaining nuts. It was impossible for me to object. I was
taken with admiration for her agility. She must have been twice my age, but I knew I could never get up that tree.
To the victor, the spoils!

( Trees from my Window; Ruskin Bond)

Why did the narrator get up before sunrise?
[Question ID = 13499]

1. To surprise himself [Option ID = 23993]

2. To catch the culprit who stole the walnuts [Option ID = 23996]
3. To help the old lady in cutting the grass [Option ID = 23994]
4. To pluck the nuts before they got stolen [Option ID = 23995]

Correct Answer :-
» To catch the culprit who stole the walnuts [Option ID = 23996]

Topic:- DU_J19_BELED_T3_NEW

1) Read the passage given below carefully.

From a very early age, perhaps the age of five or six, I knew that when I grew up I should be a writer. Between the
ages of about seventeen and twenty-four I tried to abandon this idea, but I did so with the consciousness that I
was outraging my true nature and that sooner or later I should have to settle down and write books.

I was the middle child of three, but there was a gap of five years on either side, and I barely saw my father before
I was eight. For this and other reasons I was somewhat lonely, and I soon developed disagreeable mannerisms
which made me unpopular throughout my schooldays. I had the lonely child's habit of making up stories and
holding conversations with imaginary persons, and I think from the very start my literary ambitions were mixed up
with the feeling of being isolated and undervalued.

(Why I write; G. Orwell)

How many siblings did the author have?
[Question ID = 13505]

1. Three [Option ID = 24017]
2. Two [Option ID = 24018]
3. Five [Option ID = 24019]
4. Four [Option ID = 24020]

Correct Answer :-
e Two [Option ID = 24018]

2) Read the passage given below carefully.

From a very early age, perhaps the age of five or six, I knew that when I grew up I should be a writer. Between the
ages of about seventeen and twenty-four I tried to abandon this idea, but I did so with the consciousness that I
was outraging my true nature and that sooner or later I should have to settle down and write books.

I was the middle child of three, but there was a gap of five years on either side, and I barely saw my father before
I was eight. For this and other reasons I was somewhat lonely, and I soon developed disagreeable mannerisms
which made me unpopular throughout my schooldays. I had the lonely child's habit of making up stories and
holding conversations with imaginary persons, and I think from the very start my literary ambitions were mixed up
with the feeling of being isolated and undervalued.

(Why I write; G. Orwell)



Which childhood habit of the author stems from his loneliness?
[Question ID = 13507]

Making up stories and holding conversations with imaginary persons [Option ID = 24027]
Barely seeing his father before he was eight [Option ID = 24026]

Trying to abandon the idea of becoming a writer [Option ID = 24025]

Outraging his true nature [Option ID = 24028]

P

Correct Answer :-
. Making up stories and holding conversations with imaginary persons [Option ID = 24027]

3) Read the passage given below carefully.

From a very early age, perhaps the age of five or six, I knew that when I grew up I should be a writer. Between the
ages of about seventeen and twenty-four I tried to abandon this idea, but I did so with the consciousness that I
was outraging my true nature and that sooner or later I should have to settle down and write books.

I was the middle child of three, but there was a gap of five years on either side, and I barely saw my father before
I was eight. For this and other reasons I was somewhat lonely, and I soon developed disagreeable mannerisms
which made me unpopular throughout my schooldays. I had the lonely child's habit of making up stories and
holding conversations with imaginary persons, and I think from the very start my literary ambitions were mixed up
with the feeling of being isolated and undervalued.

(Why I write; G. Orwell)
What does the phrase ‘I soon developed disagreeable mannerisms’ in the given passage mean?
[Question ID = 13506]

1. I refused everything [Option ID = 24022]

2. I developed a disagreement with mannerisms [Option ID = 24024]
3. I did not develop good manners [Option ID = 24021]

4. 1 displayed unpleasant behaviour [Option ID = 24023]

Correct Answer :-
« I displayed unpleasant behaviour [Option ID = 24023]

4) Read the passage given below carefully.

From a very early age, perhaps the age of five or six, I knew that when I grew up I should be a writer. Between the
ages of about seventeen and twenty-four I tried to abandon this idea, but I did so with the consciousness that I
was outraging my true nature and that sooner or later I should have to settle down and write books.

I was the middle child of three, but there was a gap of five years on either side, and I barely saw my father before
I was eight. For this and other reasons I was somewhat lonely, and I soon developed disagreeable mannerisms
which made me unpopular throughout my schooldays. I had the lonely child's habit of making up stories and
holding conversations with imaginary persons, and I think from the very start my literary ambitions were mixed up
with the feeling of being isolated and undervalued.

(Why I write; G. Orwell)
What does ‘outraging’ mean in the above passage?
[Question ID = 13508]

1. Showing anger [Option ID = 24031]
2. Horrifying [Option ID = 24032]

3. Violating [Option ID = 24030]

4. Disgusting [Option ID = 24029]

Correct Answer :-
« Violating [Option ID = 24030]



5) Read the passage given below carefully.

From a very early age, perhaps the age of five or six, I knew that when I grew up I should be a writer. Between the
ages of about seventeen and twenty-four I tried to abandon this idea, but I did so with the consciousness that I
was outraging my true nature and that sooner or later I should have to settle down and write books.

I was the middle child of three, but there was a gap of five years on either side, and I barely saw my father before
I was eight. For this and other reasons I was somewhat lonely, and I soon developed disagreeable mannerisms
which made me unpopular throughout my schooldays. I had the lonely child's habit of making up stories and
holding conversations with imaginary persons, and I think from the very start my literary ambitions were mixed up
with the feeling of being isolated and undervalued.

(Why I write; G. Orwell)
What according to the author was his ‘true nature’?
[Question ID = 13509]

1. To avoid instincts [Option ID = 24036]

2. To write [Option ID = 24033]

3. To converse with imaginary persons [Option ID = 24035]
4. To be lonely [Option ID = 24034]

Correct Answer :-
e To write [Option ID = 24033]

Topic:- DU_J19_BELED_T4_NEW

1) FufafEa T« aE 9 ufeu)

% ugd € e gt § S Sy A A1 wrerera I @it A T ¥ 1 IR7 wawre S @R @ @ o R Y 919 @R, ruey, T, e,
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[Question ID = 13514]

1. TS @1 & 31T [Option ID = 24053]

2. T8 990 &1 =a1@ fhd 31T [Option ID = 24055]
3. foFT M1 & 31T [Option ID = 24056]

4. fS91 SRUT & 3T [Option ID = 24054]

Correct Answer :-
o fo7 3mH=AUT & 37T [Option ID = 24056]

2) Fufafaa T &1 aE § ufeu)
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[Question ID = 13512]

1. $ U Yeq| & JoId BI [Option ID = 24045]

2. Teg TR 7 1R 31 JHAFH HI [Option ID = 24048]
3. 3TIferd 3T YHH BI [Option ID = 24046]

4, 33! HEI-AT fera @1 [Option ID = 24047]

Correct Answer :-

« $S U Xeq] & oid ! [Option ID = 24045]

3) fufafaa e« aF @ ufew)

T Ugd 8 B8 gH1 § 1 AfAfy F B vaae 39 a8 81 IR1 Haaq 34 arn | g &t 'l Y 9 ®, wdY, uer, wer,
TgR &1 4t I | 7R g UdheH St o yHdad g1 39 Il Treal § "o T A 39 SNSRI g1 Wbl §, AfhT wqd®
3 &S & d® 39 3R AT IR 8! Fargd (), 79 7 & 32 Sifafy & Fedar § ok emud wrdar e §
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(sfafgafaea Tl
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[Question ID = 13515]

1. G 30 o § umefr R4 & [Option ID = 24060]
2. G Ay J UrfA1 o & [Option ID = 24058]

3. TG UT6H J U1 B4 & [Option ID = 24059]

4. TGP 3T AWH! F U HR § [Option ID = 24057]

Correct Answer :-

. TGP TP J U1 R § [Option ID = 24059]

4) fafafEa e & a3 kel

T Ugd 8 B8 gP1 § 1P Afafy A B aaa 39 N A 781 81 IR1 Haas 34 ann | g o 'l Y 9 ®, udY, uar, wer,
TgR &1 ot I | 7R g UdheH St o yHda 81 39 It Treal §f "o T | 39 SISV g Wbl §, Afh wqd®
3 &Sl & d@® 39 3R AT IR e fargd (Fum), 79 7 & 32 Sifafy & Fedar § ok emud wrdfr e §
fF g W T WP 39 AR Hdes G o |

(sfafeafaea o)
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[Question ID = 13513]

1. 3{HY [Option ID = 24051]
2. 3{FR [Option ID = 24049]

3. 3{@RIY [Option ID = 24050]
4. 3{HTd [Option ID = 24052]

Correct Answer :-
« 3{a3Y [Option ID = 24050]

5) fAufafaa e« e @ ufeu)

T ygd 8 o5 g1 § 1 Afafy A B yaae 39 a8 81 IR1 Haas 34 arn | g ot 'l Y a9 ®, udY, uer, wer,
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(sfafgmfae Tl

S & d@d &1 F T e § ?
[Question ID = 13511]

1. Tt f&77 o 994 31T [Option ID = 24044]
2. o fomr ®1f & 31T [Option ID = 24043]
3. St fSHT g 31U [Option ID = 24041]

4. S faret ot 9 3MTT [Option ID = 24042]

Correct Answer :-

« St forddt off 9ad 3MTE [Option ID = 24042]

Topic:- DU_J19_BELED_T5_NEW

1) FufafEa T« o= § ufeu)

g1, T R ) 2Rt fa Tsw, gultar W@ex A el FR TR FaAR BT 81, ST AT| S IR arer foredt wgrit 71 uiyg s
FIT Y1, 3EHP, S a¥® &b Ao TATaTd QaWaR, Tel [$6P TS| TS dRP A 3T V8 Wper IR A BTH! J Sa1eT HHRIRT H1
TR S+ STaREd dagpW! A b fg SR =1 T8 T 9ue | T, 98 gR o | Aorar= faeeht ® = g <t fearaa &
feme, YpaaPR e & T, IHHR T @, "3 SIH o §2"

(GofFwTHgan )
&Y TGaaBR 1T BT T aTewd B ?
[Question ID = 13518]

1. W1 ST [Option ID = 24069]

2. HUST AT AT [Option ID = 24071]
3. YT ST [Option ID = 24070]

4. IR &1 [Option ID = 24072]

Correct Answer :-
o YHNT ST [Option ID = 24070]

2) Fufafaa T &1 e § ufeu)

g1, T IR ) <Rt fia Tsw, gulRar w@ex A cil FR TR FaR BT 81, IS AT| S IR arern foredt wgrit 71 uivy s
FIT T, 3EUP, Gl dRE & 9o AT HaGaR, T81 fEo® M| 315 a% A 3T T8 IPeX AR A HIB! A TeT BRI BT
TR 311 STaREd dapW! A b fg SR =1 T8 Tl 9ue | 3T, 98 gr o | e faeeht & an g <t fraraa &
e, YpaaE? 811 & IO, FHPHR Y @, "3ATY P a@) g2

(G ga )
T & < A 3rgHe’ o1 T Y g2
[Question ID = 13520]

1. 3@ [Option ID = 24078]

2. o ¥ feeredt a1 [Option ID = 24080]
3. gUfedr aTe= I aTa [Option ID = 24077]
4. 9 [Option ID = 24079]

Correct Answer :-
« T [Option ID = 24079]



3) fafefaa meriw ot wa= A ufeul

g1, T IR ) 2Rt fia Tsw, gulkar w@ex A <ol FR TR GaIR BT 81, IS AT| S IR arern foredt wgrit 71 uivy s
FIT G, TP, Sl AP & o TATaTd oW, Tal (66D TS| T3 ¥ | T Vg Tpex JaR A BTH! & Sa1eT B Bt
TR S+ STaRE¥d Ja@pW! A b fg SR =1 78 uran| aue | 3T, 98 gr o | Aorar= faeeht & w7an g <t fearaa &
faeTe, YpaaE? 811 & IO, FHHR I @, "3ATY P a@) 32"

(G ga )

Al Tpex FaR &t |l 181 A2
[Question ID = 13517]

1. ARYHT M o IR H F&b T3 Y [Option ID = 24067]
2. Tl R I ST a8 3138 A [Option ID = 24068]

3. T Gl oW U 3T I@T AT [Option ID = 24066]

4, Tpex YAR d81 ¥ XGIFHR Tg! gofl [Option ID = 24065]

Correct Answer :-

. URAPT 3 o9 I H 3% T3 2t [Option ID = 24067]

4) Fafafea e &1 w9 9 ufeul

g1, To IR ) <0t da Tsw, gultar w@ex A el TR TR TR T 81, ST AT| S IR arer foredt werit o1 uiyg s
FIT G, 3EHP, S a¥W &b AW TATaTd VaWaR, Tel [$6P TS| T3 ¥ | 3T Vg Wpex AR A BIW! J Sa1eT HHRIRT Bt
TR -t TaRGd dapW! A THFHR foY IR 7 38 UTAT Tue H 3T, 98 gr o Y| e faeett & =an g it fraraa &
e, TpaedR 811 & IO, IHHT IS A, "3 St al g2"

(GRIF¥a; g )
TIHY Y Jd Joig 1 At ?

[Question ID = 13521]

1. foret gt &1 afgan =iS® YT [Option ID = 24081]
2. QI AW T oSl ATarITd [Option ID = 24082]

3. HISTa BT YXGTahR 1T [Option ID = 24083]

4, Tt @1 Rarad &1 S/ BT [Option ID = 24084]

Correct Answer :-

. foret wert @1 afean five T [Option ID = 24081]

5) frafafaa e # waE 3 ufew)

g1, To R ) 2t g Tsw, guitar W@ex A el TR TR FaAR T 81, ST AT| S IR arer ot werit o1 iy s
FIT G, 3EHP, S a¥B &b Ao ATATATd HaWaR, Tal [$6P TS| SIS ¥ | 3T Vg Wpex AR A BIW! § Sa1eT HHRIRT Bt
TR S STaRGH da@W! I b fg SR -1 T8 UTdTl 9ue | 3T, 98 gr o | Aorar= faeeht ® = gm =it fearaa &
e, YpaaPR e11 & T, IHDHR YDA @, "3 S1F af §2"

(GofFwa g )
FPrafafEd Tkl § S19  Weg B T @R’ g ot 787 22
[Question ID = 13519]

1. SfETE [Option ID = 24074]
2. 9359ld [Option ID = 24073]
3. §agW [Option ID = 24076]
4. 9GQd [Option ID = 24075]



Correct Answer :-

+ §d%W [Option ID = 24076]

Topic:- DU_J19_BELED_T6_NEW
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R SO Bt ) 3ifpd g1 IravTer ufed wamfaer) iy &1 v Suew +f 39 feA W 79 # 9% &Y a1 411 IS4 $eT U,

%@mﬁaagmﬁmwwmmqﬁmaﬁq I & @1a-dia GRS TR &1 dSHT 4T, 3T 39 G A M AT W
B |

(7 dE® F& §7F aard ANR)
Frufafad - § A $19-91 T 3T T-0g 30 @ i @2
[Question ID = 13524]

1. WTd-Uid [Option ID = 24095]
2. SITT-3{TT [Option ID = 24094]
3. JAT-4HT [Option ID = 24096]
4, d9-9R [Option ID = 24093]

Correct Answer :-
+ TH-9R [Option ID = 24093]

2) Fafefaa T o = 9§ ufen|

T 1929 # =T ot | uftea g3 3k a9 A APR 1939 a@ ag uRk=y o= fe ufgaw grar & = wan PR st &

Hfdad = gt 95 SIS GHIfAd 511 RY § gg1-weT ganardsit Uiid & JuT Srated & o SIrar-mar &ar 311y 9y

T2 3TeHT Y| Y UTE T 1Y 983 A 38d A1 f9-9R IR S99 BT W WY a=fmef ar U711 3ieR a1et 9% # T da@d R

T TwAe 3R aw el & dF FeaTe vod A1 TG & UK 96 S diF Aife e aeTyeyl ot ofd e a% AR 9 ued

TR O} P & 3ifpa 21 Iawren ufea wmfaer) iy &1 e Suew ft 39 &= IR 79 & 9= &% a7 U1 I FeT U,

%ﬁwﬁ@egwﬁmmmmﬁqﬁmaﬁq Ifr & @Ta-dia GRISTd R $T dS1 U1, 3T 39 RIFa A M AT w®
B BISH

(FdG®E F7 F77 rgaard ATR)
SR TRl ST HET g /TR ?
[Question ID = 13526]

1. AR & HAT-3{ET dRIbl & dR H [Option ID = 24102]

2. QYT ST & BRI JOME & IR | [Option ID = 24103]

3. AWP R 3T AWD| 3R 3% R & UHIG & IR H [Option ID = 24101]
4. AWH & MUH AT & §R H [Option ID = 24104]

Correct Answer :-

. TGP W A AGH! 3R 3% IRl & UHEG & SR H [Option ID = 24101]

3) fufafaa e« aF @ ufew)

T 1929 ¥ fARTe oft ¥ ufvay g3 3R 99 A APR 1939 9% ag uR=y fe fo=1 ufmaw gYar € =ar man| fFrren st &
HfFad = g3 95 SIS YU fBa11 SR F ggTI-war ganardsit Ui & U1 Sratead & o Srar-Smar &ar o411y 9y
TS 3meHl A1 Y YIS TP A1y @@ A 38 A1 9-IR IR I9a1 Bidt W W gxfard mar U711 3ieR a1d 36 A U dE@d R



A 799G IR ddhst & diF HRET I &1 TF-IG1 & R 96 3 di AifefAs ag1gel &t Sfa 3frer a6 W 919 ued

TR Y P & 3ifpd 21 Iavre ufed wmfeer) iy &1 e Suewr ft 39 &= IR 799 & 9= &< a7 U1 I FeT 4,

aﬁm%waﬁ@egwﬁmmmmﬁqﬁmaﬁq|€ﬁ?ﬁ@ﬁ-ﬁﬁwwmmmwﬁmwﬁm‘ AMATAWR
5} B1Y BIST|

(Fd@E F7 F77 rqgaard ATR)
Yo #, fIF A9E 3R P F dIF PuErey PP e @ 3 2
[Question ID = 13525]

1. gararas Hrfa, fARrars 3R age & T [Option ID = 24100]
2. FRTeT St iR 3T RET ¥ faTQ [Option ID = 24097]

3. Agw, SRR 1y SR ARl Sit & o [Option ID = 24098]
4. fay a"gsﬁ & ferg [Option ID = 24099]

Correct Answer :-

o o8 Sy & forT [Option ID = 24099]

4) Fafafad T o= 9 ufel

T 1929 ® fARTem ot & ufvea g3 ik a9 A APR 1939 a@ gg uRk=y fa=l fe= ufgaw grar & =em wan PR st &
Hfdda A g 9gd Sifs yunfad fan1 sy ¥ ger-wa1 garardsit YRia & gut sratag § +ff Srr-oman sar 311y 9y
T3 3meHt A1 FiHY UTS T 91y @S A 35d A1 TH-IR IR 399 S8t W ot g=fAred mar 41 3iew ardt 9o W th amd w®
T 7S 3R TPt & 9 PRy Wod A1 A9 & HeR 96 3 i1 A1 e Aergeyl & ofd e a% AR 99 ued
TR <Y Pt O sifdpa 31 IravTen ufSa wamufagr) fry &1 e Iudwr ot 34 fet A w1 ® W’ &R war Ani 3= Far A,
w%maﬁ@agmﬁmwuﬂamqﬁmm%q Idfe ® Wra-vid YRIGT TR BT ASHT 4T, 3N 39 RIF@ AWM AR
TS B [

(7 3EF F8 F7F Haard ANR)
‘Tifecd I e FHM BT J1eA HW 81 7911 Infev’ gz ufed fea wat i 2
[Question ID = 13527]

1. ARETeSt HTifa J [Option ID = 24107]

2. TART@TSH 7 [Option ID = 24105]

3. Uf3a amfaeRt fy 7 [Option ID = 24108]

4. AT AR (@) 7 [Option ID = 24106]

Correct Answer :-

. U wumfegR fiiy = [Option ID = 24108]

5) fafafea T # am= @ ufeul

T 1929 # =TT S & ufvera g3 iR 99 A APR 1939 d a8 U=y o=l fe= afgaw grar € = war e st &

Hfdaa A g 9ga Sifs yuifaa fban1 sy ¥ ggr1-we1 garardsit YRia & gut sratag d +f Srr-oman sar 311y 9y

T2 3TeHT Y| Y UTE T 1Y 9@ A 38d A1 fH9-9R IR S99 BT W Y a=f=mef ar U711 3ieR a1e 96 # T a@d R

T TE SR aH S & W9 FREH 392 A | HEG! b TER 9 I A AT s TETIL! Bt Bfd TS TF A A Ued

TR Y P & 3ifpd 21 Iavre ufed wHfeeR iy &1 e Sucwr Wt 39 &= & 799 & 9= &< a7 U1 I FeT 4,

%ﬁmaﬁgmﬁmmmﬁmqﬁmaﬁq 19 A Wra-dia WYRIETd TR BT ASHT AT, TIFC 39 RFa A M AT W
BIY BIE|

(FdGE F7 F71 rqgaard ATR)

WaP P fhao aafdaa A srafire yuifaa fear 2

[Question ID = 13523]
1. gARATeSt HIfa [Option ID = 24089]



2. TR [Option ID = 24092]
3. THfagRY 1% [Option ID = 24091]
4. JTGRTST UfSd [Option ID = 24090]

Correct Answer :-
o FRTa [Option ID = 24092]

Topic:- DU_J19_BELED_T11_NEW

1) Which of the following is not a factor responsible for cyclone formation?

frrafafaa # @ 19 91 9 Twhard fAHiur & fore STveri T8 @2
[Question ID = 13590]

1. Temperature / dYHIA [Option ID = 24360]

2. Lightning / fSSTcil [Option ID = 24357]

3. Wind speed / Ud- &I T [Option ID = 24359]
4. Humidity / =T9T [Option ID = 24358]

Correct Answer :-
+ Lightning / fa<Telt [Option ID = 24357]

2) Which of the following is not a heat zone of the earth?
fFafafaa & @ o1 W sledy gt &1 9 sledy g 32

[Question ID = 13600]

1. Prime Zone /Y4 SicdY [Option ID = 24398]

2. Frigid Zone /=Mt ®fca [Option ID = 24399]

3. Temperate Zone / Il &fede [Option ID = 24400]
4. Torrid Zone /3 HicaY [Option ID = 24397]

Correct Answer :-
. Prime Zone /9HY PHicay [Option ID = 24398]

3) Which of the following is not a natural fibre?

fFrafafaa & ¥ $19 a1 wefas Y= =8 82
[Question ID = 13577]

1. Wool / & [Option ID = 24307]

2. Jute / €T [Option ID = 24305]

3. Nylon / AIIgd9 [Option ID = 24308]
4. Silk / Y= [Option ID = 24306]

Correct Answer :-
« Nylon / ATSdIA [Option ID = 24308]

4) Which of the following is not a consequence of deforestation?

fFrafafaa & ¥ w1 a9 1 alkom 78 82
[Question ID = 13584]

1. Increased infiltration rate / 3id:&aul &t g3 & q@ [Option ID = 24335]

2. Increased soil erosion / &l 3R H gfg [Option ID = 24333]

3. Decreased soil fertility / JaT Id=al & &HT [Option ID = 24334]

4. Decreased water-holding capacity of soil / &l B! SIAURUT &HdT H HHT [Option ID = 24336]

Correct Answer :-
« Increased infiltration rate / 3/d:¥aul &1 & | gfg [Option ID = 24335]



5) Which of the following represents the probability of a random event?

frrafafaa & @ o4 U gre=sal 9e-1 &t Uiikiedr & gidr 82
[Question ID = 14377]

1. 1.004 [Option ID = 27507]

18

2. [Option ID = 27506]

8
3. 7 [Option ID = 27508]
4. -0.04 [Option ID = 27505]

Correct Answer :-

18

. ¥ [Option ID = 27506]

6) Which of the following defines the relationship between Rhizobium and the roots of legumes?

frafafaa & @ o9 91 T 739979 3R BaleR Uil 1 98 & T &) RN Hdar1 82
[Question ID = 13594]

1. Predation / URH&UT [Option ID = 24373]

2. Parasitism / TRSiIfddl [Option ID = 24374]
3. Symbiosis / Teoifadr [Option ID = 24375]
4. Competition / UfGIRTAT [Option ID = 24376]

Correct Answer :-
e Symbiosis / ggeitiad [Option ID = 24375]

7) Which of the following set depicts the correct sequence of events in Indian history?

fFafiafad e & @ $19 91 A YR 3fae™ $1 e o1 JE 3wy S=ifdr 8?2
[Question ID = 13611]

1. Salt Satyagraha, Second World War, Rowlatt act, Non-cooperation movement / TH® JdRg, fodta fay g, Jde Udc, ST
(Non-cooperation) 3figrer [Option ID = 24441]

2. Rowlatt act, Salt Satyagraha, Second World War, Non-cooperation movement / e Tde, TH% JATE, fedta fay g, sragan
3GIE [Option ID = 24444]

3. Rowlatt act, Non-cooperation movement, Salt Satyagraha, Second World War / Jde Udc, SN &ﬁ?ﬁﬂ'ﬁr, THD qdg, fgag
fa% g [Option ID = 24442]

4. Non-cooperation movement, Salt Satyagraha, Rowlatt act, Second World War / S ETNT &F'I'Cﬁﬂ?, JHS JAg, et T, fgdia
fa% g [Option ID = 24443]

Correct Answer :-
« Rowlatt act, Non-cooperation movement, Salt Satyagraha, Second World War / Jdic Tde, 3{TgUNT 3fiGleH, THS TG,
fgciia fay gg [Option ID = 24442]

8) Which of the following kitchen waste items is non-biodegradable?

Frafafaa & 3 v o) sl axgait & ¥ Fi=-wt J9-siFeoiy 82
[Question ID = 13589]

1. Empty milk sachet / g @} @Teit ait [Option ID = 24356]

2. Used tea leaves / TART &1 §s 91 &1 GRidl [Option ID = 24354]
3. Spoilt food / T&T g3l e [Option ID = 24353]

4. Torn out jute bag / Tl g31T U &Il ar [Option ID = 24355]

Correct Answer :-
« Empty milk sachet / Y &1 @Teit 4eft [Option ID = 24356]



9) Which of the following will turn the colour of red litmus paper into blue?

frafafaa & 9 o9 91 yerd ara forewy s &) i &1 § 9ea ¢m?
[Question ID = 13578]

1. Tamarind (imli) solution in water /ﬁﬂ?ﬁqﬁﬁ BI] [Option ID = 24312]
2. Vinegar /RR&T [Option ID = 24310]

3. Milk of magnesia /fire 3t TR [Option ID = 24311]

4. Curd /38! [Option ID = 24309]

Correct Answer :-
« Milk of magnesia /ffresh 3iTs HIRMAT [Option ID = 24311]

10) Which of the following latitude passes through India?
fFrafafaa siei=r & ¥ &1 AT & YR I 1P Toival 82

[Question ID = 13597]

1. Equator / 4H¥T @ [Option ID = 24385]

2. Arctic Circle / SR ¢ddd [Option ID = 24386]

3. Tropic of cancer / P 3G [Option ID = 24388]

4. Tropic of Capricorn / HH 3Gl [Option ID = 24387]

Correct Answer :-
» Tropic of cancer / PP @ [Option ID = 24388]

11) Which part of the brain helps us in maintaining the posture and balance of the body?
Tf&TsP HT B A1 U AR WA 3R Jga 918 @A § gHRY TeTaar HdT 82

[Question ID = 13586]

1. Medulla / TEAT [Option ID = 24341]

2. Cerebrum / JHI&TSH (JRSH) [Option ID = 24342]

3. Cerebellum / SIHRTS (JRSTH) [Option ID = 24343]
4. Hypothalamus / 8TUIATH [Option ID = 24344]

Correct Answer :-

« Cerebellum / 3ARTSH (JReeH) [Option ID = 24343]

12) Which one of the following substances is a ‘compound’ and not a ‘mixture’?

fFrafafea ueraf # @ o149 a1 uerd 9iffe 8, a1 fF o2
[Question ID = 13583]

1. Tap water / 7 &1 Sl [Option ID = 24332]
2. Steel / ¥ [Option ID = 24329]

3. Glucose / T®IS [Option ID = 24331]

4. Brass / Ulqd [Option ID = 24330]

Correct Answer :-
+ Glucose / @Il [Option ID = 24331]

13) Which one of the following is not a Fungus?

Frafafea & ¥ o9 Fao T8 22
[Question ID = 13579]

1. Yeast /@HR [Option ID = 24313]

2. Bread mould /S &I TWd! [Option ID = 24316]
3. Mushroom /HRIR=H [Option ID = 24315]

4. Seaweed /Tt RGTd [Option ID = 24314]



Correct Answer :-

« Seaweed /T AGTA [Option ID = 24314]

14) Which one of the following is not a tribe in India?

frafafea # @ $19 I YR ) T Sy T8 82
[Question ID = 13613]

1. Ahom /3{81H [Option ID = 24451]

2. Kazakh / &I [Option ID = 24452]
3. Bhil / YT [Option ID = 24449]

4. Gond / TS [Option ID = 24450]

Correct Answer :-
o Kazakh / 9l [Option ID = 24452]

15) Which fundamental right in India empowers the citizens to move to court if they believe that any of their
'Fundamental Rights' have been violated by the State?

3R TP HRAIT ARG P T & {6 ST forelt +ff Aifere iR’ &1 Isa gRT Swaia+ fovar man g, ¥ fRfa A s+ an
e fieR ARTR®Y B srgrad & oM &1 fUPR a1 82

[Question ID = 13609]

1. Right against Exploitation / Y1 & fEas e [Option ID = 24434]

2. Right to Constitutional Remedies / TaHTRe IUTR BT fYBR [Option ID = 24436]
3. Right to Freedom of Religion / g o1 WdFAd BT SMRBR [Option ID = 24435]

4. Right to Freedom / ¥ad=dl &1 3{fYHR [Option ID = 24433]

Correct Answer :-
« Right to Constitutional Remedies / T ITAR T HfYBR [Option ID = 24436]

16) Which was the first state in India to introduce Mid-Day Meal scheme (programme aimed at providing cooked
lunch for children in all government elementary schools)?

THTE oA AT ([ e RS faemeal  s= & fore uwT gom Wi Sudsy M 8d $RiHH) IR B ardal
YR $T YT 319 DI AT AT?

[Question ID = 13602]

1. West Bengal / Of3H ST [Option ID = 24407]
2. Kerala / @ [Option ID = 24405]

3. Tamil Nadu / Hﬁ?‘l’*l‘l’g’ [Option ID = 24406]

4. Andhra Pradesh / 3ff$f TiG=T [Option ID = 24408]

Correct Answer :-
e Tamil Nadu / d fl("ﬂlg [Option ID = 24406]

17) Which is the largest number that divides 245 and 1029 leaving remainder 5 in each case?

98 999 931 H-IT B9 Al § S 245 3R 1029 FY HIT H1 R YIS M H 5 AV g1 82
[Question ID = 13561]

1. 60 [Option ID = 24244]
2. 40 [Option ID = 24243]
3. 16 [Option ID = 24241]
4. 32 [Option ID = 24242]

Correct Answer :-
e 16 [Option ID = 24241]



Which movement began in the USA in the 1950s in which African —American people demanded equal rights and an
end to racial discrimination?

T I ARSI T 1950 F a=F | S AT g I g AT Forad snplet -smfva! an ¥ gur sifter) ok awit
NGUTT B! TATE HA Bt 7T 31 A2

[Question ID = 13606]

Basic Rights Movement / Td 3ffI®R 3figiad [Option ID = 24422]

Civil Rights Movement / TR 3ffYHR 3figia [Option ID = 24421]
Social Rights Movement / TTHTI® SMRIGR 3fiaia [Option ID = 24423]
Economic Rights Movement / M SRABR 3figra [Option ID = 24424]

HwnNE

Correct Answer :-

«  Civil Rights Movement / AFTR® 3{f®R 3Gl [Option ID = 24421]

19) When we boil water in an aluminium pan, the quantity of water in the pan decreases with time. This is
because:

(i) aluminium absorbs the water

(ii) water gets converted to carbon dioxide

(iii) water gets converted to water vapours

(iv) water heats up and breaks into hydrogen and oxygen which mixes with air above

Which of the above statements is true?

S g I B AegHT F Tl A IaTerd |, O THT S Y- e Pt AET FH el ATl | | SHBT RO 8
(i) gy od o) =N wear

(iii) oTe BT STg3MTaqTsS | 9o STl &

(iiii) &1, SieraTey # S ST @

(iv) SEHT UGV 1 W o, SIS 3R TRite # gaa STaT 8 9l SUR TP arg # e siran 2

STF | A PIH-91 YT T 82

[Question ID = 13580]

1. Both (jii) and (iv) / (iii) 3R (iv) @I [Option ID = 24320]
2. Both (i) and (ii) /(i) 3R (ii) gl [Option ID = 24319]

3. Only (i) / %ad (iii) [Option ID = 24317]

4. Only (iv) / %dd (iv) [Option ID = 24318]

Correct Answer :-
e Only (iii) / Had (iii) [Option ID = 24317]

20) When no single party enjoys majority in a legislature, then the government is formed by an alliance of two or
more political parties. What do we call this type of Government?

wie 1S Wt urdf fyurdt gema ¥ 9gHa @ T8 Shad! 8, 9 WHR 991 & T 3t a1 3 A Sifte ga U A1y 31 &1 39 YR Ft
WPR B FIT HFT 1T 82

[Question ID = 13604]

1. Majority Parliament / §gHd TG [Option ID = 24414]

2. Hung Parliament/ﬁ'&"@ﬂﬂ'ﬁr [Option ID = 24413]

3. Coalition government / T3S TXDHR [Option ID = 24416]

4, Minority government / 3fcd&d % TRPBR [Option ID = 24415]

Correct Answer :-
« Coalition government / TS TDHR [Option ID = 24416]

21) During a survey, Anu noted the following entries:
X+9 x+8 x+7,x+6,x+5x+4,x+3,x+2,x+1,x
The median of these entries is 5.5. What is the value of x?

TP & F R 3] A Fufafaa ufafdat oo o
X+9 x+8 x+7,x+6,x+5x+4,x+3,x+2,x+1,x
T URRT FTHIAS 5.5 I x PITAF HTE ?



[Question ID = 13573]

1. 1 [Option ID = 24292]
2. 7 [Option ID = 24291]
3. 0 [Option ID = 24289]
4. 6 [Option ID = 24290]

Correct Answer :-
o 1 [Option ID = 24292]

22) 1f p(x) = ax2 + bx + ¢, (a # 0) and a + c = b, then what would be the zeroes of the polynomial p(x)?

gfeg p(x) = ax2 + bx + ¢, (a # 0) Ma+c= b%,a‘ra'gu?: p(x) %Wmﬁﬂ? [Question ID = 13570]

-b
d: =
a
1. [Option ID = 24279]

2. [Option ID = 24278]
a
3. [Option ID = 24280]

4. [Option ID = 24277]

Correct Answer :-
1 —C
T el

. [Option ID = 24280]

23) In a given two-digit number, the digit at the tens place is thrice the digit at the units place. By reversing the
place of digits, the new number formed is 36 less than the given number. What is the given number?

31 3! arelt <1 1€ U =T | IBTE b R BT 3 FPHTE $ W & 3P BT ol A1 8| 37 TS & 3P| & RIM Idcd W’
I T, & TS e | 36 #4 71 €l TS T= /T 82

[Question ID = 13571]

1. 42 [Option ID = 24284]
2. 62 [Option ID = 24281]
3. 93 [Option ID = 24283]
4. 26 [Option ID = 24282]

Correct Answer :-
e 62 [Option ID = 24281]

24) 1In a survey, data is collected from 100 people. The sum and mean of the entries are (y3 —25)and 1
respectively. What would be the value of y?

TSP T3&0T & 100 NN A 3ipe JUSH fe 1w | I ufafday &1 9 3k Aren HHRT: (y3 -25) 3R 1 81 y FT HIF &1 gRI?
[Question ID = 13558]

1. 5 [Option ID = 24230]
2. 125 [Option ID = 24229]
3. 115 [Option ID = 24232]
4. 25 [Option ID = 24231]

Correct Answer :-
e 5 [Option ID = 24230]



Three spherical balls with radii 1 cm, 2 cm and 3 cm were melted and a big spherical ball was formed. 25% of the
metal got wasted in this process. What would be the radius of the new spherical ball?

N Maer 72 e, Bean s 1 3, 2 I siv 3 A f, 3= frgen F= v &) MareRr g T9rf 11 59 ufpar A
25% YT SPR gl 1| 39 A5 MeeR g 1 Hsar @ ghfi?

[Question ID = 13569]

1. 2 cm / 2 9% [Option ID = 24276]
2.5cm/ 5 T [Option ID = 24274]
3.3 cm / 3 HI [Option ID = 24275]
4.6 cm / 6 94T [Option ID = 24273]

Correct Answer :-
« 3cm/ 3 9H [Option ID = 24275]

26) Metal ‘M’ reacts with Oxygen to form a metal oxide ‘M,0’. What is the valency of the metal ‘M’? (Atomic
number of Oxygen is 8)

UTg ‘M’ SRS A forar F3d U1 SiTaaTSS "ML0’ SHTET 81 UTg "M’ 1 JFeiidhdl T 872 (SITRITH &1 IRUTY] =T 8 7)
[Question ID = 13591]

1. 1 [Option ID = 24362]
2. 4 [Option ID = 24363]
3. 2 [Option ID = 24361]
4. 3 [Option ID = 24364]

Correct Answer :-
e 1 [Option ID = 24362]

27) From a right-angled triangle, a square of 1 unit was cut from one of its corners. What will happen to the
perimeter and area of the resulting figure?

TP JHBIU YT & TP B4 A 1 SBT3 T TS @l HIe forar STdT g | I Spfa & Ry 3R &% d IR 3HST T YT
ghm?

[Question ID = 13559]

1. Perimeter will decrease; while there will be no change in the area / URATT b STE, Sdfd &% T D3 daaTd el
S{TE [Option ID = 24234]

2. Area will decrease; while there will be no change in the perimeter / &A% d U ST, Safd gRam™ § DI 9GAd T8l
S{TET [Option ID = 24235]

3.  There will be no change in both area and perimeter / RATT 3R &% d aiHl H dis Igard el ST [Option ID = 24233]

4.  Both area and perimeter will decrease /  URHTT 3R &A% G g Te S [Option ID = 24236]

Correct Answer :-

«  Area will decrease; while there will be no change in the perimeter / &35 d ge ST, Safe GRAY H 1S sgard g
ST [Option ID = 24235]

28) Ahmed can complete the rewiring of a house in 5 days. However, with the help of Saroj, he can complete the
work in 3 days. If Saroj were to work alone, then how many days would she take to complete the rewiring?

IS TH W ¥ fyorelt &t aR @ &1 w1 5 1 & 1 3% Tohar 81 9afd WRie 3t Aeg I 98 W $H 3t 3 A A R v
ol 81 3R TS I PTH B 3Ppd Bl g, df 98 fa feat & ar @ iz

[Question ID = 13568]



1.7 Ya days / 7 ¥ {1 [Option ID = 24272]
2. 7 days / 7 T&71 [Option ID = 24270]
3.15days/ 15 faa [Option ID = 24269]

4. 6 Y2 days / 6 V2 &1 [Option ID = 24271]

Correct Answer :-
« 7 Y2 days / 7 v f&-1 [Option ID = 24272]

29) Neha went shopping for caps and shirts. The number of shirts she bought was three less than thrice the
number of caps purchased. Also, the number of shirts purchased was six less than six times the number of caps
purchased. How many caps and shirts did she buy?

A1 At 3R Fie T@deA 1 IUF gRT WIS 7 i @1 Te, @A T ARG i e & @ § f9 w9 Ft 19y
§, TG TS Tt B wen, T TS St 3t He & % A 9 98 o4 At | 39 fEa At ok s @il

[Question ID = 13562]

1. 2 Caps, 1 Shirt / 2 AT, 1 HHW [Option ID = 24247]
2.0 Cap, 1 Shirt / 0 T, 1 HHI [Option ID = 24246]
3.1 Cap, 0 Shirt / 1 T, 0 HHIS [Option ID = 24245]

4. 1 Cap, 2 Shirts / 1 T, 2 IS [Option ID = 24248]

Correct Answer :-
« 1 Cap, 0 Shirt / 1 TIdt, 0 HHIS [Option ID = 24245]

30) In which century did the ideas of citizenship and nation-state took root in India?

HRA H AR 3R P-4 & FaaRy &1 woi fora wdt & gam ur?
[Question ID = 13603]

1. Late nineteenth century / JANTdT TdTsdl o fUsd Ui o [Option ID = 24409]
2. Late eighteenth century / 3{GRgdl dlsal & U HFT H [Option ID = 24411]
3. Mid nineteenth century / JAdl Ol &b g o [Option ID = 24412]

4. Early nineteenth century / URfY® I3aal Jdlsg! H [Option ID = 24410]

Correct Answer :-

« Late nineteenth century / Il JdTea! & U YT H [Option ID = 24409]

31) How is water provided to crops in drip irrigation system?
TupTa (f3u) RiE et & wUa &) 9 $Q SUdsy ST SATdl 32

[Question ID = 13581]

1. Creating artificial rain using showers / ?ﬁ'ﬁ[ a&faﬁm I [Option ID = 24322]

2. Sprinkling it by using rotating nozzles / gHT g5 <icl & 581 ¥ [Option ID = 24323]

3. Making it flow in small drains around crops / ®dd & TIRT 3R B ferat H F871 IR [Option ID = 24324]
4. Drop by drop directly near the roots / 19 S8l & U §g §& HRab [Option ID = 24321]

Correct Answer :-
« Drop by drop directly near the roots / T1&f STSf & UM §g §& ®Xd [Option ID = 24321]

32) How many lines of symmetry does a rectangle have?

TP 3Mad | foha- gafafa Yard gidt 82
[Question ID = 13553]

1.Two/ oI [Option ID = 24210]

2. Four / <R [Option ID = 24209]

3. Infinite /  3f4d [Option ID = 24212]
4.0ne/ U [Option ID = 24211]

Correct Answer :-
« Two/ I [Option ID = 24210]



33) A card is selected at random from a well shuffled deck of 52 playing cards. What is the probability of the card
being a red face card?

IS YR A Bl TS 52 sl B T a1 B TS H A TP U qressa1 Hwrarn Srdr 81 39! w1 ik 8 7% g uw v
Te T BT qEIR a1 U 82

[Question ID = 15226]
3

1. 13 [Option ID = 30902]
3

26
2. [Option ID = 30901]
1

2
3. [Option ID = 30904]

4, [Option ID = 30903]

Correct Answer :-

34) In terms of credit, what does Collateral mean?
U1 B =P T gHdF BUYR &1 707 34 g2

[Question ID = 13601]

1. An asset that the borrower owns and uses this as a guarantee for the lender until the loan is repaid / Ut ufxy o IuRSal &
U BIct € 3R 98 B0 g ad 39 TR & Y T IUTNT T & [Option ID = 24403]

2. An asset that both lender and borrower jointly own and use as a guarantee until the loan is repaid / Tt Uy S Burern 3R
JYRGA! GHI TG U I 3@ & AR B HM d TR & 9 T SUIN Hd & [Option ID = 24402]

3. An asset that the lender owns and uses this as a guarantee for the borrower until the loan is repaid / U Fufy ST Buerdr &
T 8 3R B gbMH d% 98 39 TR & U T JUTNT HR § [Option ID = 24401]

4. A random asset that neither the borrower nor the lender owns, however, it is used as a guarantee until the loan is repaid / o]
YUy ot 7 At SYRBdT 3R 7 & HUIGTAT & U gl 8 Qs ITHT IUANT TR & Y H a1 S1m § 5 b o H01 Jobrar gt
GITdT [Option ID = 24404]

Correct Answer :-

« An asset that the borrower owns and uses this as a guarantee for the lender until the loan is repaid / Tt Tuft St SYRGAT
% U BIdl § 3R 98 BU B ddb 39 TR & TG & SUINT Fal g [Option ID = 24403]

35) Every rational number is

T URAY TBT T
[Question ID = 13557]

1. An integer / WW [Option ID = 24226]

2. Areal number/  T® dRdidd AT [Option ID = 24227]
3. Awhole number/ TUoh qﬂfﬂ'@ﬂ [Option ID = 24228]

4. A natural number / T UTdhd HBAT [Option ID = 24225]

Correct Answer :-
 Areal number/  U® dRdfdd W& [Option ID = 24227]

36) Consider the following changes that take place around us:
(i) Burning of dry leaves

(ii) Conversion of milk to curd

(iii) Evaporation of water from a pond

Which of the above is a physical change?



frafafaa uivada gar oma ure ufed gid 3| 39 W faar &
(i) gt uiRra &1 S@

(i) GY T 351 § FgaT

(iiii) AT & U BT arefiRor

Suded § A i a1 uRad Hifdes aRad= 82

[Question ID = 13588]

1. Both (i) and (ii) / (i) 3R (ii) gl [Option ID = 24352]
2. Only (iii) / ad (jii) [Option ID = 24351]

3. Only (i) / %4 (i) [Option ID = 24349]

4. Only (i) / 9dd (ii) [Option ID = 24350]

Correct Answer :-
« Only (jii) / ®ad (iii) [Option ID = 24351]

37) Match Column I with Column II

ColumnI Column II

a) Humus 1) prevent soil loss

b) Shelter belt 2) helps to retain soil moisture

c) Rock dams 3) organic matter deposited on top soil
d) Mulching 4) check the wind movement

PIaH I 9YT HiaH I BT e siferg

PHrad I Pred II

a) TqU 1) QT (UG DI AP

b) Y& el 2) Y Y it ) 9T T @ Heg BT @
c) IgH a1y 3) S gor W Fafa g uerd

d) Hafir 4) &1 B Tfa B SiTg A | Heg Bl 8

[Question ID = 13610]

1. a-3, b-4, c-1, d-2 [Option ID = 24437]
2. a-4, b-1, c-2, d-3 [Option ID = 24440]
3. a-1, b-2, c-3, d-4 [Option ID = 24438]
4. a-2, b-3, c-4, d-1 [Option ID = 24439]

Correct Answer :-
. a-3, b-4, c-1, d-2 [Option ID = 24437]

115751
250

38) 9

What will be the digit at the thousandths place of the number

115781 ¢ : . ~
H AgETET TATH =T AF F47 02
250

[Question ID = 14378]

1. 1 [Option ID = 27511]
2. 4 [Option ID = 27509]
3. 2 [Option ID = 27512]
4. 3 [Option ID = 27510]

Correct Answer :-
e 4 [Option ID = 27509]



Ifcos A= i; and (0° = A =90°), then what will be the value of tan A?

-

I cos A = % ST (0° < A <90°)F, 9T tan A FT HTF 54T T2

[Question ID = 13555]

[Option ID = 24217]

Wl q |

2. [Option ID = 24219]

3. [Option ID = 24220]

e | L)

4, [Option ID = 24218]

Correct Answer :-

40)
Which equation describes the relationship between X and } in the table given below?

et IR H X 3R v & TS ©f &F 1 THISH0 <Xl g2

X v
0o | -4
4 | 20
2, | 12
8 | -36

[Question ID = 14430]

y=—"-4

1. 4 [Option ID = 27717]
2 Y=o AX -4 o ion b = 27719]

y=-4x+4
3. [Option ID = 27718]

X

y=12-4

4. 4 [Option ID = 27720]

Correct Answer :-

Y=-4% -4 oton D = 27719]

41) Abdul was whirling a stone tied with a string in a horizontal circular path and suddenly the string broke. What

effect will it have on the stone?
HGA TP TR $I TP YT A Tiysx QT 3ia 9y o= ga1 67 4T 3R S/ YT ge TAT1 39 YRR W T THT TST?



[Question ID = 13587]

1. It will continue to move in a circular path / I8 gt 9y H 7T STRY AT [Option ID = 24346]

2. It will move along a straight line towards the centre of the circular path / I8 T U4 & g BI 3R el & & A1 T HEm
[Option ID = 24348]

3. It will move along a straight line tangential to the circular path / T8 T 9 & =i X Hieft a1 & A1y 71fd ST [Option ID
= 24347]

4. Tt will drop to the ground immediately /38 gRd SHIM TR IR ST [Option ID = 24345]

Correct Answer :-

« It will move along a straight line tangential to the circular path / T8 Jx1d Uy & T Y@ Teh 1 & 1y 71fd FHIT [Option

ID = 24347]
42) Human body is of electricity and air is of electricity.
HTa YRR fagyga &1 g1 ? ok arg fagga &1 gar el

[Question ID = 13582]

1. Conductor, Insulator / dIcidh, SARNYH [Option ID = 24326]
2. Conductor, Conductor / ™I, dlcich [Option ID = 24328]
3. Insulator, Insulator / GER}[W, SRIYH [Option ID = 24325]
4. Insulator, Conductor / &Iaﬁ%, dlcfeh [Option ID = 24327]

Correct Answer :-
o Conductor, Insulator / dIci®, ARIYH [Option ID = 24326]

43) Why are the air conditioners (ACs) often placed high up on the walls?
UT: 9P A® (AC) SR TR FHW $ dv% T TY S 82

[Question ID = 13585]

1. So that ACs do not require earthing / Tfds TG a®! &1 31T Bt STa=THAT 7 TS [Option ID = 24338]

2. So that ACs consume less power / dlfds TG A® fdgdd Mfad &1 HH SUART B [Option ID = 24337]

3. So that the cool air moves down and hot air moves up / dIfds $at Y 1a BT 3R TUT TH a1 HW BT 3R MY [Option ID =
24340]

4. So that the hot air moves down and cool air moves up / dIfds TH a1 = ®T 3R TUT St I HW BT 3R S [Option ID =
24339]

Correct Answer :-

« So that the cool air moves down and hot air moves up / dTfes $St arg F1d & 3R TUT TH I FHWR T 3R ST [Option ID =
24340]

44) What does MRP stand for?
TH. 3R. . (MRP) &1 fawiia v Fu1 82

[Question ID = 13599]

1. Minimum Retail Price / <IdH gxT H eI [Option ID = 24396]

2. Minimum Rate Price / gAdH &X Hc [Option ID = 24394]

3. Maximum Rate Price / 3{f9ddH & g [Option ID = 24393]

4. Maximum Retail Price / G{fﬂﬁv_dﬂﬁﬁ?'[&?l [Option ID = 24395]

Correct Answer :-
« Maximum Retail Price / 3ff&iwaq YT Hog [Option ID = 24395]

45) What will be the geometric representation of the given pair of equations?
24x +1.6y-1.8=0and4.8x + 3.2y-3.6 =0

fau T wefiwvor g o1 st g @ g
2.4x + 1.6y - 1.8 = 0 3R 4.8x + 3.2y - 3.6 = 0

[Question ID = 13563]



1. Coincident lines / TUTa! YWY [Option ID = 24250]

2. Parallel lines / THAR TE [Option ID = 24251]

3. Parabola / URddd [Option ID = 24252]

4. Intersecting lines / Ufdade @l g8 XWTQ [Option ID = 24249]

Correct Answer :-
« Coincident lines / TuTct Y@M [Option ID = 24250]

46) What would be the sum of the first 16 terms of the Arithmetic Progression: 10, 6, 2,...?
AR 4¢1: 10, 6, 2,.... F UYH 16 UGI BT TN 4T THIT?

[Question ID = 13554]

. 320 [Option ID = 24214]

. -400 [Option ID = 24216]
. -352 [Option ID = 24215]
. -320 [Option ID = 24213]

D WN =

Correct Answer :-
e -320 [Option ID = 24213]

47) What do we call a state which does not officially promote any one religion as the state religion?

ag ey ot frdt oft o Bt snfrepTe U @ Iy uH & R W ) U1, 3H I I T Hgl Sl 82
[Question ID = 13598]

Socialist / FHTSIATE! [Option ID = 24390]
Theocratic / &H=NRIA [Option ID = 24391]
Republic / TTOTGH [Option ID = 24392]
Secular / & fARUe&f [Option ID = 24389]

e

Correct Answer :-
«  Secular / &¥ fA%0¢f [Option ID = 24389]

48) What is the name of the process by which a tadpole is transformed into an adult frog?

39 UfhaT &) w1 Hed & ORI U dsud, 9u3 Aed A uikafdd g wmar 82
[Question ID = 13592]

1. Molting / fAa= [Option ID = 24365]

2. Regeneration / QAT [Option ID = 24367]
3. Metamorphosis / STITARUT [Option ID = 24368]
4. Hibernation /=fiafRfsHadr [Option ID = 24366]

Correct Answer :-
« Metamorphosis / BIITGRUT [Option ID = 24368]

49) What is the process of cultivation of grapes called?

SR o WAt # ufthar S w1 HaT war 22
[Question ID = 13614]

1. Sericulture / ¥¥&eaR [Option ID = 24454]
2. Pisciculture / Tofi@eaR [Option ID = 24455]
3. Vermiculture / HfdeeR [Option ID = 24456]
4, Viticulture /fafd®ear [Option ID = 24453]

Correct Answer :-
e Viticulture /fafd®eaR [Option ID = 24453]



What is Per capita income?

ufa safe ema &1 aar 3 82
[Question ID = 13605]

1. Income earned by each individual in the country / 31 § Udi% aafad gRT 3ifSfd 3 [Option ID = 24417]

2. Income generated by payment of taxes by individuals / Hfaddl gRT &R &b Yird= ¥ IO A [Option ID = 24419]

3. Total income of the country divided by total population / T B DA 3T DT P ST J faureH [Option ID = 24418]

4. Total income of the country divided by expenditure incurred / G &t Pd AT ¥ forT 1T g7 &1 faUTSH [Option ID = 24420]

Correct Answer :-
» Total income of the country divided by total population / < P DA 3T BT A STHSAT Y faumeH [Option ID = 24418]

51) Anita is getting ready for a party. She is standing at a distance of 20cm from a plane mirror. At what distance
will her image be formed?

3T us urdl & e aur g1 38l 31 98 U quad quur § 20 Adhiier @ gft iR @ ? @ v ufafde fra it g w
T2

[Question ID = 13575]

1. 30 cm / 30 I [Option ID = 24297]
2. 10 cm / 10 T [Option ID = 24300]
3. 20 cm / 20 T [Option ID = 24298]
4. 15 cm / 15 94T [Option ID = 24299]

Correct Answer :-
« 20 cm / 20 9HT [Option ID = 24298]

52) Read the passage given below carefully.

Most of us have our moments of wonder, when we are curious, and we ask questions that actually are historical.
Watching someone sip a cup of tea at a roadside tea stall you may wonder — when did people begin to drink tea or
coffee? Looking out of the window of a train you may ask yourself — when were railways built and how did people
travel long distances before the age of railways?... All such historical questions refer us back to notions of time.
But time does not have to be always precisely dated in terms of a particular year or a month. Sometimes it is
actually incorrect to fix precise dates to processes that happen over a period of time. People in India did not begin
drinking tea one fine day; they developed a taste for it over time. There can be no one clear date for a process such
as this. Similarly, we cannot fix one single date on which British rule was established, or the national movement
started... All these things happened over a stretch of time. We can only refer to a span of time, an approximate
period over which particular changes became visible.

(Our Pasts III, NCERT, 2007)

Frafafea e o w= 9 ufieul

T A | ARBI AN B SrAfBIT HRAaTA TR &0 Bl § o9 89 S &ld ¢ 3R g9 TA Uy USd ? St areaq # e g
T T fFIR 9 &) g W [t &) 919 31 TP $U g WA §T STHR 9§ A Bt SgP B Thdl @ - Al d 919 a1
P! FI7 BT Ta- H9 IR= goM ERMM? 31 ) fAsH A 9187 3T §U MU 94 | UP TP § - vad &1 fafor wa gam ur oi?
A3 F A A Ugd ddl gl B AT FA B A? ... W T e vy o6 aw @ wEfia yRonsi &1 g 91y aRId 81
TR 9HY B e fpadt fay o a1 wdi & srgar @ fuifva 7Y e wifgw) saft-mt ufeq ufteansit & forg fraa fafy
R BT IRad | Ted ghaT 8 1 URa & @ A o & & 9ra fiA1 3= 81 fan; SusT Wie 399 $9 90y ugTq 8 S9d
B3I 39 TRE B Ufha1 & T HIE Ty aiia 78 &) Tl | 3 ThR g0 U8 WY U A $g 8! ubd b s s e
RTTYa foa T o1, a1 IAEH ST H AR g3 AT ... 1 & Gt A U wwamafy # g5 1 89 Saw w9 Y @i o1 S
PR DA 8, TP AT 3raftr o faiy ulad= i w1 31

(891e 3l 111, T.3H.3.3R. 4., 2007)

According to the passage above what can one infer about the nature of certain social processes?

IUYed 3T & IR, $© TS Ulharsi &) upfa & IR & 1 Uar avman S gl 8?2
[Question ID = 13608]

1. They are gradual and take place over a period of time / 3 Hi® g 3R % gHaatd # gid g [Option ID = 24431]



2. They are gradual and end on precise time / 9 D B 3R [T T09 R I91W 8ld 8 [Option ID = 24430]

3. They can be assigned fixed dates / 37! fad fafdmi fufid @t ST Tt § [Option ID = 24429]

4. They begin on a specific date and end on a specific date /3 U falRry fafy 9 = B § 9k T Ry fafy &R T g g
[Option ID = 24432]

Correct Answer :-
« They are gradual and take place over a period of time / 3 St § 3R T THaEfy & 8 € [Option ID = 24431]

53) Read the passage given below carefully.

Most of us have our moments of wonder, when we are curious, and we ask questions that actually are historical.
Watching someone sip a cup of tea at a roadside tea stall you may wonder — when did people begin to drink tea or
coffee? Looking out of the window of a train you may ask yourself — when were railways built and how did people
travel long distances before the age of railways?... All such historical questions refer us back to notions of time.
But time does not have to be always precisely dated in terms of a particular year or a month. Sometimes it is
actually incorrect to fix precise dates to processes that happen over a period of time. People in India did not begin
drinking tea one fine day; they developed a taste for it over time. There can be no one clear date for a process such
as this. Similarly, we cannot fix one single date on which British rule was established, or the national movement
started... All these things happened over a stretch of time. We can only refer to a span of time, an approximate
period over which particular changes became visible.

(Our Pasts III, NCERT, 2007)

fFrafafEa i ot a= J ufewl

T H A SAftrepizr @ BT SRR PFRAaT T/ &0T Bl € 19 8H SIP 81d ¢ 3R & TH U Yo ¢ St araa | Bfaeiiie gid
T T PR a0 &) g W [t &) 919 T TP $U g WA 5T ITHR 9§ A I SgP B Thdl @ - @l J I1g
FHIP! TI9 BT Ta H9 = g TRMM? 31 &1 fAsat A 91eR 3T §U 31U W4 I IP THd § - vad &1 fFaior wa g ot oi?
YA F AM A U ol gt B A FH R A2 ... W) 9t e vy 76 wuy A el uronsit &1 g4 Sty FRa g
TR AT B e fhdt faiy adf a1 w8 & Srgar @ Fuifva 7t s wifge) waft-wt ufea ufteansit & forg fra fafy
TITTT HT IRad | Ted gia1 8 1 HRa & @ A e &9 A 9ra fiA1 IR= 81 faran; SUST Wie 399 $9 90T UTq 81 37
TITI 39 X8 $) ufpar & R o1 Ty aitE 78 8 godt| I USR 51 98 WP FU & $§ T8 GPd 1 e I+ o9
RITTYa foar T o1, a1 AT ST S SRF g3 AT ... | & Gt S T wwarafey # g5 1 59 Saa 9wy &1 3af o1 o
B APA &, TP AT rafty R fasiy ufved= e wer 1

(8919 3/l 111, . .8.3R. 4., 2007)

When is a question called 'Historical’in nature?

PIS Uy W=y | Tfaeiie’ $a Heamar 82
[Question ID = 13607]

1. When it refers to a person / S dg Udh fad ¥ T giam % [Option ID = 24425]

2. When it refers to a group of people / SId dg M & TH qqg J g gl 8 [Option ID = 24427]
3. When it refers to the notion of time / ST& 98 THYT &1 YRUT J JrafId gia & [Option ID = 24428]
4. When it refers to an object / SId dg Udh d¥g Y gwaiferd gar § [Option ID = 24426]

Correct Answer :-
« When it refers to the notion of time / 51§ 98 THT P YRUN T THTd gial % [Option ID = 24428]

54) Read the passage given below carefully.

What does social democracy mean? It means a way of life which recognises liberty, equality and fraternity as the
principles of life. These principles of liberty, equality and fraternity are not to be treated as separate items in a
trinity. They form a union of trinity in the sense that to divorce one from the other is to defeat the very purpose of
democracy. Liberty cannot be divorced from equality; equality cannot be divorced from liberty. Nor can liberty and
equality be divorced from fraternity. Without equality, liberty would produce the supremacy of the few over the
many. Equality without liberty would kill individual initiative. Without fraternity, liberty and equality could not
become a natural course of things. It would require a constable to enforce them.

(B.R. Ambedkar's speech, Frontline, February 2019)



Frafafaa e # o= 9 ufew |

TS s &1 3 a1 82 98 te Y Sfa usfa @ Y Tadsan, JaEar 3R §Yd &Y Siiad & Rigial & ©u § Wer
FHdl g | T, JUAT 3R aYd F 39 Ryl &) B # srat-srert avgsit & &0 & 8 a1 o wwar 81 a8 Agfd &1
TS AT HOoH S48 % afe 38 U gk A ST o2 e ST ot diwdd & Ie= BT 81 g1 81 ST | Iqd=ral &1 THTT
{ et T8) farar oI WehdT 8; UG B T=dT A (T 81 {51 oIl FhdT g1 -1 8 Tae=raT 3R THHAT BT I A 3T
e o1 9 8 | UG & A1 W $0 a1 $ aed B gerar N | WaFAar & AT THHdT safeiia Sushd &Y 7Y HR
ﬁlﬁ‘gaggm,w' 3R GUHET AT HTIYUITE 1 I 98 99 a1 3 A1) B3 & foT Uw UgigR &
STITgHdl gt

(3 31e. JEsHv HT YTy, Wedrs-, Bas! 2019)

Which of the following are the significant principles of a social democracy?

frafaf@a # @ $19 § IHie dieda $ Ayl Rigid 82

[Question ID = 13595]

1. Equality, democracy and liberty / THTGT, Tepaa 3R W=l [Option ID = 24380]
2. Fraternity, democracy and liberty / S, @dda 3R W=l [Option ID = 24378]
3. Liberty, trinity and equality / c=dT, Bfd 3R FHMET [Option ID = 24377]

4. Liberty, equality and fraternity / SId=IdT, THT 3R §¢ [Option ID = 24379]

Correct Answer :-
« Liberty, equality and fraternity / Taci=IdT, JHMT 3R §¢d [Option ID = 24379]

55) Read the passage given below carefully.

What does social democracy mean? It means a way of life which recognises liberty, equality and fraternity as the
principles of life. These principles of liberty, equality and fraternity are not to be treated as separate items in a
trinity. They form a union of trinity in the sense that to divorce one from the other is to defeat the very purpose of
democracy. Liberty cannot be divorced from equality; equality cannot be divorced from liberty. Nor can liberty and
equality be divorced from fraternity. Without equality, liberty would produce the supremacy of the few over the
many. Equality without liberty would kill individual initiative. Without fraternity, liberty and equality could not
become a natural course of things. It would require a constable to enforce them.

(B.R. Ambedkar's speech, Frontline, February 2019)

Frafafaa T o a= & ufew |

TrIIE A &1 3 w1 82 98 U Tl Shia Ugfa 8 it Tad=dn, T 3R 94 $1 oftaq & Rigial & ¥ § Wer
Bl B | TaaEAd], FHAGT 3R sy $ 371 Riial @) Bgfd & srerr-arer aegaii & w0 & 7€) A1 &1 whar 21 a8 Hfd &1
TS TH1 Ao §91d § o afe 38 var gt 9 31T o faar e @t elds & Se=a &1 8t g1 &1 SR | Il Bt THT
{ 3T Y forar o1 Ppar §; THFGT SI IadTdl A T Tl fbar o gear 1 A1 € WA 3R JHTHAT Y d¢cd A ST
a1 <1 wwar 8 | FHET & AT WadadT $© @R & IUa B geral it | WeaT & {91 quTar safReTa SusH B A% B
el ﬁwmm,mﬁmmmﬁm%wqﬁﬂmlﬁmm%ﬁﬁwmaﬁ
STaRghar gnft

(&1 317, SIS HV BT YTy, WhedarsH, B! 2019)

Without the principle of equality, what would liberty in social democracy mean?

AT & Rigid & 991, arfore dieda A Jadadr &1 &1 34 grm?
[Question ID = 13596]

1. Freedom to choose one's own religion / 39T 4H T &1 Tac=aT [Option ID = 24384]

2. People are free to make their choices without any compulsions / A o foheft gard & Sruet UHGIOR g B & forg W7 &
[Option ID = 24381]

3. There is no state to govern the people / A R T B P g HIS Iy T8 8 [Option ID = 24383]

4. Dominance of a small number of people over masses / SI-dl TR & ?ﬁl’cﬂ KIICAR NG [Option ID = 24382]

Correct Answer :-
» Dominance of a small number of people over masses / SHdl IR $& g =T AT Bt g [Option ID = 24382]



56) Read the statements given below carefully:

(i) Classification of natural resources depends upon their level of development, use, origin, stock and distribution
(ii) Abiotic resources are non-living while biotic resources are living

(iii) Resources that are found everywhere are localised but those which are found only in certain places are
ubiquitous

(iv) Using resources carefully and giving them time to get renewed is called resource conservation

On the basis of the above statements mark the correct response from the following:

fFrafafaa sy=1 @1 = 9 ufeu:

(i) wrpfae o 1 Fiffesor 399 faera & W, Iuaifiar, Saf, ¥eR 3R faawor w Ak sar @

(i) 3ifas Taree fsifa wafe Sfae 9y Jeiia 81a &

(iiii) F THTY S g R TR UTT o1 & R g1 § 3R ot wared R 0wl w? 8 fired € 3 gdard g €
(iv) HITYT BT ATFYES T H AT ST SR 3 B A 97 BT 0T ST YA IRV Hdrdl &

SWIF FYI F YR W Fafafaa o 3 98 3w giu:

[Question ID = 13612]

1. (i), (ii) and (iv) are correct / (i), (ii) 3R (iv) T & [Option ID = 24447]
2. (ii), (i) and (iv) are correct / (ii), (ii) 3MR (iv) T&¥ & [Option ID = 24448]
3. (ii), and (iv) are correct / (ii) 3R (iv) TE! § [Option ID = 24446]

4. (ii) and (iii) are correct / (i) 3R (iii) T & [Option ID = 24445]

Correct Answer :-
« (i), (ii) and (iv) are correct / (i), (i) 3R (iv) T&T & [Option ID = 24447]

57) Carbon-dioxide gas is produced as one of the products in which of the following processes?

TP I & FU A BT SZATFATSS N9 PT Ioqsid (uferrad § A g ufthar & giar 82

[Question ID = 13576]

1. Burning of hydrogen gas with pop sound / fa¥hie af & W1y gIESIoH 9 & S ¥ [Option ID = 24303]

2. Adding baking soda to vinegar /RR®T1 T sfdh et fiam 3 [Option ID = 24301]

3. Adding dilute sulphuric acid to ammonium hydroxide / T TTHRIRS & | SHIIH gI3gIags A ¥ [Option ID = 24304]
4. Mixing charcoal powder with iron / dIe & Y IRDIA Bl iUf e 9 [Option ID = 24302]

Correct Answer :-

« Adding baking soda to vinegar /RIReT # sfdsT AT @™ ¥ [Option ID = 24301]

58) The difference between the length and the breadth of a rectangle is 23 meters. If the perimeter of the
rectangle is 206 meters, what is the area of this rectangle?

TP 3Tad Pt TS 3R SIS BT 3R 23 Hiex 21 e 3mad &1 uRATT 206 HieT 8, O 39 3MUd BT &T6hd T 82

[Question ID = 13564]

2520 m? / 2520 & Hiex [Option ID = 24256]
2480 m? / 2480 T HicR [Option ID = 24255]
2420 m? / 2420 ¥ TR [Option ID = 24254]
1520 m? / 1520 g Hiex [Option ID = 24253]

H W=

Correct Answer :-
. 2520 m? / 2520 & Hiex [Option ID = 24256]

59) The sound waves cannot travel through which of the following medium?

G a3 Fafafaa & | f5a areaw & 98 R ged?
[Question ID = 13593]

1. Gas / 799 [Option ID = 24369]

2. Solid / 31 [Option ID = 24370]

3. Vacuum / fAafd [Option ID = 24372]
4. Liquid / <9 [Option ID = 24371]



Correct Answer :-
e Vacuum / fata [Option ID = 24372]

60) The angle of elevation of the top of a tower from a point on the ground, which is 30 meters away from the foot
of the tower, is 30°. What is the height of the tower? ]
yftr &t fig A, st AR & ure-fig A 30 Hex 91 gt W B, AR & RRaR &1 3739 F1vr 30° 31 HAR &Y SHa5 71 72

[Question ID = 13572]

10 m / 10 H [Option ID = 24287]
30v3 m / 30v/3 I [Option ID = 24286]
30 m / 30 T [Option ID = 24288]
10v3 m / 10v3 i [Option ID = 24285]

e

Correct Answer :-
«  10V3 m/ 10v3 Hi [Option ID = 24285]

Topic:- DU_J19_BELED_T7_E_NEW_(optional)

1) Read the passage given below carefully.

The boy took off the lid of the circular wicker basket and stood looking at the cobra coiled inside, and then said,
*‘Naga, I hope you are dead, so that I may sell your skin to the purse makers; at least that way you may become
useful.” He poked it with a finger. Naga raised its head and looked about with a dull wonder. ‘You have become too
lazy even to open your hood. You are no cobra. You are an earthworm. I am a snake charmer attempting to show
you off and make a living. No wonder so often I have to stand at the bus stop pretending to be blind and beg. The
trouble is, no one wants to see you, no one has any respect for you and no one is afraid of you, and do you know
what that means? I starve, that is all.”

(Naga; R. K. Narayanan)

Which of the following statements are not true about Naga?
[Question ID = 13529]

1. Naga did not open his hood [Option ID = 24113]

2. Naga was an earthworm [Option ID = 24116]

3. Naga was slow and sluggish like an earthworm [Option ID = 24115]
4. Naga was coiled in the wicker [Option ID = 24114]

Correct Answer :-
» Naga was an earthworm [Option ID = 24116]

2) Read the passage given below carefully.

The boy took off the lid of the circular wicker basket and stood looking at the cobra coiled inside, and then said,
*‘Naga, I hope you are dead, so that I may sell your skin to the purse makers; at least that way you may become
useful.” He poked it with a finger. Naga raised its head and looked about with a dull wonder. ‘You have become too
lazy even to open your hood. You are no cobra. You are an earthworm. I am a snake charmer attempting to show
you off and make a living. No wonder so often I have to stand at the bus stop pretending to be blind and beg. The
trouble is, no one wants to see you, no one has any respect for you and no one is afraid of you, and do you know
what that means? I starve, that is all.”

(Naga; R. K. Narayanan)
‘I hope you are dead’. Which emotion of the boy is expressed in this statement?

[Question ID = 13533]



1. Frustration [Option ID = 24131]
2. Pride [Option ID = 24130]

3. Amusement [Option ID = 24129]
4. Surprise [Option ID = 24132]

Correct Answer :-
» Frustration [Option ID = 24131]

3) Read the passage given below carefully.

The boy took off the lid of the circular wicker basket and stood looking at the cobra coiled inside, and then said,
*‘Naga, I hope you are dead, so that I may sell your skin to the purse makers; at least that way you may become
useful.” He poked it with a finger. Naga raised its head and looked about with a dull wonder. ‘You have become too
lazy even to open your hood. You are no cobra. You are an earthworm. I am a snake charmer attempting to show
you off and make a living. No wonder so often I have to stand at the bus stop pretending to be blind and beg. The
trouble is, no one wants to see you, no one has any respect for you and no one is afraid of you, and do you know
what that means? I starve, that is all.”

(Naga; R. K. Narayanan)
What was the boy worried about?
[Question ID = 13531]

1. Begging at the bus stop [Option ID = 24123]
2. Earning his daily living [Option ID = 24122]
3. The earthworm [Option ID = 24124]

4. Naga starving to death [Option ID = 24121]

Correct Answer :-
» Earning his daily living [Option ID = 24122]

4) Read the passage given below carefully.

The boy took off the lid of the circular wicker basket and stood looking at the cobra coiled inside, and then said,
*‘Naga, I hope you are dead, so that I may sell your skin to the purse makers; at least that way you may become
useful.” He poked it with a finger. Naga raised its head and looked about with a dull wonder. ‘You have become too
lazy even to open your hood. You are no cobra. You are an earthworm. I am a snake charmer attempting to show
you off and make a living. No wonder so often I have to stand at the bus stop pretending to be blind and beg. The
trouble is, no one wants to see you, no one has any respect for you and no one is afraid of you, and do you know
what that means? I starve, that is all.’

(Naga; R. K. Narayanan)
Why does the boy stand at the bus stop and beg?
[Question ID = 13530]

1. He sold Naga to the purse maker [Option ID = 24119]

2. He was blind [Option ID = 24118]

3. Naga was dead [Option ID = 24120]

4. Naga was no longer entertaining people [Option ID = 24117]

Correct Answer :-
« Naga was no longer entertaining people [Option ID = 24117]

5) Read the passage given below carefully.

The boy took off the lid of the circular wicker basket and stood looking at the cobra coiled inside, and then said,



‘Naga, I hope you are dead, so that I may sell your skin to the purse makers; at least that way you may become
useful.” He poked it with a finger. Naga raised its head and looked about with a dull wonder. ‘You have become too
lazy even to open your hood. You are no cobra. You are an earthworm. I am a snake charmer attempting to show
you off and make a living. No wonder so often I have to stand at the bus stop pretending to be blind and beg. The
trouble is, no one wants to see you, no one has any respect for you and no one is afraid of you, and do you know
what that means? I starve, that is all.’

(Naga; R. K. Narayanan)
Why does the boy think that he may starve?
[Question ID = 13532]

1. His lack of skills as a snake charmer [Option ID = 24125]
2. Not being able to beg [Option ID = 24127]

3. The dull snake [Option ID = 24128]

4. The people are scared of snakes [Option ID = 24126]

Correct Answer :-
e The dull snake [Option ID = 24128]

Topic:- DU_J19_BELED_T8_E_NEW_(optional)

1) Read the passage given below carefully.

The House sparrow and its subspecies are worldwide in their distribution, except in the polar regions. Sparrows
have had a symbiotic relationship with humans for the past 10,000 years. Poets have sung of their trust and love
for each other in all languages. But strangely, over the past 50-60 years, sparrows have been sadly deserting
human company in urban areas, preferring suburban areas and the countryside, and only making brief visits to
nearby human habitats. So bewildering and absolute was their alienation that in 2002, sparrows were included in
the IUCN Red List of Threatened Species in the U.K. and since 2010, March 20 has been adopted as World Sparrow
Day. In 2012, Delhi adopted the House sparrow as its State bird.

Sparrows, though tiny, are very sensitive and strongly immune birds, and their sudden disappearance as sentinels
or as ecological indicators is a warning to humans about impending environmental hazards. Several speculations
have been put forward to account for sparrows deserting our cities, but they all boil down to the simple fact that
the rapid changes in the lifestyles of humans in urban areas are increasingly incompatible with the conservative
lifestyles of sparrows.

(Where have the sparrows gone?; P.1.S. Raj)
In which year was ‘World Sparrow Day’ adopted?
[Question ID = 13550]

1. 2002 [Option ID = 24198]
2. 2001 [Option ID = 24199]
3. 2010 [Option ID = 24200]
4. 2012 [Option ID = 24197]

Correct Answer :-
. 2010 [Option ID = 24200]

2) Read the passage given below carefully.

The House sparrow and its subspecies are worldwide in their distribution, except in the polar regions. Sparrows
have had a symbiotic relationship with humans for the past 10,000 years. Poets have sung of their trust and love
for each other in all languages. But strangely, over the past 50-60 years, sparrows have been sadly deserting
human company in urban areas, preferring suburban areas and the countryside, and only making brief visits to
nearby human habitats. So bewildering and absolute was their alienation that in 2002, sparrows were included in
the IUCN Red List of Threatened Species in the U.K. and since 2010, March 20 has been adopted as World Sparrow



Day. In 2012, Delhi adopted the House sparrow as its State bird.

Sparrows, though tiny, are very sensitive and strongly immune birds, and their sudden disappearance as sentinels
or as ecological indicators is a warning to humans about impending environmental hazards. Several speculations
have been put forward to account for sparrows deserting our cities, but they all boil down to the simple fact that
the rapid changes in the lifestyles of humans in urban areas are increasingly incompatible with the conservative
lifestyles of sparrows.

(Where have the sparrows gone?; P.1.S. Raj)

Which phrase in the above passage means that sparrows have a mutually beneficial relation with humans?
[Question ID = 13547]

1.  Sparrows have been sadly deserting human company in urban areas [Option ID = 24188]

2. Sparrows have had a symbiotic relationship with humans [Option ID = 24185]

3. Lifestyles of humans in urban areas are increasingly incompatible with the conservative lifestyles of sparrows [Option ID =
24187]

4, Sparrows are making brief visits to nearby human habitats [Option ID = 24186]

Correct Answer :-
. Sparrows have had a symbiotic relationship with humans [Option ID = 24185]

3) Read the passage given below carefully.

The House sparrow and its subspecies are worldwide in their distribution, except in the polar regions. Sparrows
have had a symbiotic relationship with humans for the past 10,000 years. Poets have sung of their trust and love
for each other in all languages. But strangely, over the past 50-60 years, sparrows have been sadly deserting
human company in urban areas, preferring suburban areas and the countryside, and only making brief visits to
nearby human habitats. So bewildering and absolute was their alienation that in 2002, sparrows were included in
the IUCN Red List of Threatened Species in the U.K. and since 2010, March 20 has been adopted as World Sparrow
Day. In 2012, Delhi adopted the House sparrow as its State bird.

Sparrows, though tiny, are very sensitive and strongly immune birds, and their sudden disappearance as sentinels
or as ecological indicators is a warning to humans about impending environmental hazards. Several speculations
have been put forward to account for sparrows deserting our cities, but they all boil down to the simple fact that
the rapid changes in the lifestyles of humans in urban areas are increasingly incompatible with the conservative
lifestyles of sparrows.

(Where have the sparrows gone?; P.).S. Raj)
What does the phrase ‘boil down to’ mean?
[Question ID = 13551]

The reasons can only be guessed [Option ID = 24203]
In essence [Option ID = 24202]

There are multiple causes [Option ID = 24201]

Make one angry [Option ID = 24204]

=

Correct Answer :-
. In essence [Option ID = 24202]

4) Read the passage given below carefully.

The House sparrow and its subspecies are worldwide in their distribution, except in the polar regions. Sparrows
have had a symbiotic relationship with humans for the past 10,000 years. Poets have sung of their trust and love
for each other in all languages. But strangely, over the past 50-60 years, sparrows have been sadly deserting
human company in urban areas, preferring suburban areas and the countryside, and only making brief visits to
nearby human habitats. So bewildering and absolute was their alienation that in 2002, sparrows were included in
the IUCN Red List of Threatened Species in the U.K. and since 2010, March 20 has been adopted as World Sparrow
Day. In 2012, Delhi adopted the House sparrow as its State bird.



Sparrows, though tiny, are very sensitive and strongly immune birds, and their sudden disappearance as sentinels
or as ecological indicators is a warning to humans about impending environmental hazards. Several speculations
have been put forward to account for sparrows deserting our cities, but they all boil down to the simple fact that
the rapid changes in the lifestyles of humans in urban areas are increasingly incompatible with the conservative
lifestyles of sparrows.

(Where have the sparrows gone?; P.].S. Raj)
Why is the sudden disappearance of sparrows a cause for concern to humans?
[Question ID = 13548]

1 Sparrows are sensitive and strongly immune birds [Option ID = 24192]

2 Sparrows are tiny and vulnerable [Option ID = 24189]

3. Sparrows are ecological indicators of approaching environmental dangers [Option ID = 24191]
4 Sparrows are a trusted companion to humans [Option ID = 24190]

Correct Answer :-
. Sparrows are ecological indicators of approaching environmental dangers [Option ID = 24191]

5) Read the passage given below carefully.

The House sparrow and its subspecies are worldwide in their distribution, except in the polar regions. Sparrows
have had a symbiotic relationship with humans for the past 10,000 years. Poets have sung of their trust and love
for each other in all languages. But strangely, over the past 50-60 years, sparrows have been sadly deserting
human company in urban areas, preferring suburban areas and the countryside, and only making brief visits to
nearby human habitats. So bewildering and absolute was their alienation that in 2002, sparrows were included in
the IUCN Red List of Threatened Species in the U.K. and since 2010, March 20 has been adopted as World Sparrow
Day. In 2012, Delhi adopted the House sparrow as its State bird.

Sparrows, though tiny, are very sensitive and strongly immune birds, and their sudden disappearance as sentinels
or as ecological indicators is a warning to humans about impending environmental hazards. Several speculations
have been put forward to account for sparrows deserting our cities, but they all boil down to the simple fact that
the rapid changes in the lifestyles of humans in urban areas are increasingly incompatible with the conservative
lifestyles of sparrows.

(Where have the sparrows gone?; P.1.S. Raj)
Where are the house sparrows found in the world?
[Question ID = 13549]

1. Invery few places of the world [Option ID = 24193]

2. All over the world [Option ID = 24194]

3. Only in the polar regions [Option ID = 24195]

4.  Everywhere in the world excluding the polar region [Option ID = 24196]

Correct Answer :-
. Everywhere in the world excluding the polar region [Option ID = 24196]

Topic:- DU_J19_BELED_T10H_NEW_(optional)

1) Fafafae T < a= S ufeul

fora & gyt ufaferar (A)..eveeennne frau 31 iR Ie- 1R a9 quwr 1 R W 59 BT | goad 81 W Iwd 7 8 9dbT al
JIDT (B).eerreereens AR & w=u ® yRura 8 a1 I9A JHe T fF S S99 (C)nnenenene g1 R ft gra-wR # 60%. A
3P 7 ST B BT, ) 3 3R BT T (D).rerereerenes ? oT% gRT 39 g1 U8 9T 8| TS RR R B FT A S arear 8
N T HF-HR BT 3R T FaT 7 BT SYPT (E)vvecrcrersenns &ftor gt T, fireTa (ReTa) & gom g it

(&7 &7 7g; WHg)



frea =M ¥ (A) & AR 98 fawew giw:
[Question ID = 13535]

1. 391 [Option ID = 24140]

2. &fOre [Option ID = 24138]

3. BT [Option ID = 24137]
4, 3T [Option ID = 24139]

Correct Answer :-
« 9fife [Option ID = 24140]

2) Fufafad T &1 saE § ufeu)

BRI G RN GIE 2 () I fraw 31 MR WE- 4R 9% aurT 1 W ot 919 BT A Yo g9 A B d 9 8 gPT al
JIUBT (B).rrvrrnnnnnns AR & wu # ufvura g mar 1 I gH o fF S S99 (€)nenenene g R H 9ra-+R § 60%. I
3 T STHT B HPT, A 3T 3R P T (D).evecrcrrenns ? o g1 399 g1 3 W B | 99 RR W B d1 S arg g
@ T - BT 3R T AT T BT FSTPT (E)evverererernns &ftor g, firesa (WeHa) & gom & Wit

(&ar & 7g; UHa)
o ®=IF § (B) ¥ R wE) Ree gfiw:
[Question ID = 13536]

1. G307 [Option ID = 24142]
2. {HQTST [Option ID = 24144]
3. 999 [Option ID = 24141]

4. IRQ [Option ID = 24143]

Correct Answer :-
« W [Option ID = 24141]

3) fufafaa e @ aF § ufeu)

ER PG RN GIE 2 () I fraw 81 MR W1E- 4R 9% quRT 1 W ot 919 BT A Yo g9 A B 9 8 g1 al
JIDT (B).rrrrrnnnnnns AR & wu ® g 8 a1 9 JHe T fF S S99 (C)nenennn e R ot gra-wR # 60%. I
3P 7 STHT B HPT, A 3T 3R B T (D).evecrcrrenns ? o g1 399 g1 vUA W 8| 9 RR R BU F1 A Arear g
A T AF-UR BT 3N T JGT AT BT FHBT (E)arrrssrerssens &ftor g, firesa (WeHa) & gom g Wit

(&ar & 7g; UHa)
fraa =9 F (D) F 3R 9 Rwe ghT:
[Question ID = 13538]

1. g4 [Option ID = 24149]
2. fa=m [Option ID = 24150]
3. JUM [Option ID = 24152]
4. =T [Option ID = 24151]

Correct Answer :-
o 3UNT [Option ID = 24152]

4) frufeRad e & e 3 ufeu)

forar & gyt ufafehar (A).eeeeeenes fraw 81 MR WE- 4R 9% quwT 1 W o 919 BT A Yo g9 A Iwd 9 8 g1 al
FIDT (B).rrrrssnsnnns AR & w=u § yiurg 8 a1 91 JHE T fF S 3991 (C)nnennennn e R ft gra-wR # 60%. I



ST T STHT HX DT, AT 3T 3R DI AT (D)eerrerrenrens ? for® gRT1 39d g $Ud &A1 8l | 99 RR U 601 371 9137 81 AlG-1 8
o T HA-HR BT 3R T FaT 7 BT SYPT (E)vvecrcrersenns &ftor gt T, fireTa (Rea) & gom g it

(¥#ar @ 7g; WER)
o R # (E) & 9R W8l fdwen gie:
[Question ID = 13539]

1. UHS [Option ID = 24153]

2. URAR [Option ID = 24154]
3. I8 [Option ID = 24155]
4. WY [Option ID = 24156]

Correct Answer :-
e 3IE [Option ID = 24155]

5) frafafaa e ) waE 3 ufew)

foran & ugyTq wfafohar (A)...cceveeenes o 31 TR 91e- 1R 9 901 34 R W 919 BT S g g1 A I | g1 qbT at
FIPT (B)eeennnrsnnnns R & ¥ u # ufvura g mar1 I gH o fF 919 5997 (C)nenernenn g1 W) H 91a-4R 7 60%. I
3P T STHT B BT, ot 3 3R BT T (D)ererrrerernns ? oT% g1 39 g1 308 9T 8| e RR R B ST S Arear 8
o T HA-HR BT 3R FT FaT 7 BT SHPT (E)vvecrcrcrsenns &ftor Y ran, figsa (W) & gom g Wit

(#aT &Y 7g; W)
Yo =M ¥ (€) & IR W&l fawew giw:
[Question ID = 13537]

1. 3799 [Option ID = 24145]
2. IIdAT [Option ID = 24148]
3. 3{@RIY [Option ID = 24147]
4. FY [Option ID = 24146]

Correct Answer :-
o Y [Option ID = 24146]

Topic:- DU_J19_BELED_T9_H_NEW_(optional)

1) Fafafee T o a= S ufewl

T Nt v 39 afvar @t el fref A aga o= drera & 8t iRk 3@ wRar @1 @ 7§, Wik, gdmasik gids & gay
TRaryt &t Wt Igzeraa giar &1 gdf iR warel & forg w=igR uniwTelt R Faramar af v, Srawd, e oiv sfeve it
TRIT & dg¢ ¢ AT B $© € AL 11 7k 7 Ut o1 16N 31 9 99g 9% JRI 389 & R 3 el o1 swaurd
Fd A ISTHAATAT 39 AHTA & TR AT A F1S Targ ot 7Y 31mar °TIgRIY & IRY A 59 7916l Bt 9gd S F3= qamq
R UM F Y, ou 3w 3= Ft aret W amnsi & e duR A 13 gard garst # o e oma A igdf g, @R @
YRd, T & Srarar Ut e-grerd 3R ava & forg off w=igw um

(77 &v; fiavae)
T it ved 39 TR T SR A 989 v= Saa & B 159 99w | @ arad @2
[Question ID = 13541]

1. el 1 & HRIGR H dgd GATHT 34T [Option ID = 24161]

2. et e & = B O X agd U1 TG [Option ID = 24163]

3. Tch o Pt O A 3OHT GATHT 59 URAR & @l & 1Y §ieT [Option ID = 24162]
4. HTcht e ¥ %ad Ue &1 URAR &1 BIaal §3fT [Option ID = 24164]

Correct Answer :-



o ol fHE & BRITGR H dgd GATHT §31T [Option ID = 24161]

2) e T <t e 9 ufeul

T it ved 3@ ufvar #) S e A 984 o= daa & 0RrE 39 Tar 31§ 76 §ds, Wik, gdmasik gids & gAY
af¥art ®t W Igera gitrar &1 gdf it el & forg wwigR uni@Tel R aramar i, Sawd, gargh 3R s ot
TRIY & I8¢ Yo HH A $© &1 He AT WG e uren o1 199 &) a1 90y 96 JRId 194 & e 3 el &1 sard
Fa A IFHPIAATAT 37 AATE & R Wi | H1g warg i 78 3mar °11gRu F IRl & 397 7Hral ) 954 Siud AHg< aaRa
3R U F forg, ToW e A= Ft aralt Tt amneit & g duR A 13 wara qarstt # o v ema & rgdf g, @Ak @
YR, AATEl & SaATaT (U=t e-grad 3R dud & ferg oft w=rge um

(779 g% frawag)
TRIT & =0 A Tt Bt | 1y A2

(i) ga1 ¥4 & ferg
(i) HiE P! Wifey s F g
(iiii) {9 $! TWRE g1 § F91 & forg

[Question ID = 13544]

1. (i), (ii) 3R (iii) [Option ID = 24176]
2. (ii) iR (iii) [Option ID = 24174]
3. (i) 3fR (iii) [Option ID = 24175]
4. (i) 3R (ii) [Option ID = 24173]

Correct Answer :-
o (i), (iD) 3R (iii) [Option ID = 24176]

3) Fafafea e # o= J ufeul

T Tt v 39 afvar @t el frf A g o drera & 5 iRnb 3@ wRar @1 @ 7§, Wik, gdmasik gids & gay
giart &) W Igveraa gfrar &1 gdf e garal & fore a=igr yn 1Tl frd Faramar o, Srawd, sargt 3R seRd Wt
TRIT & dg¢ 6 AT B o & AL I 7k 7 uTeT AT 16N 31 9 9 9% JRI 389 & R 3 vl o1 swaurd
Fd A IZHBIAATAT 37 AATE & TR Wi | $1g warg i 78 mar 41I1gRu F I9R) & 397 71l 3 954 oiud AHs< aawe
IR TR F Y, ou AW 3= F avret Wy amnsi & e duR 13 gard garsi # o e o A igdf g, @R @
YR, T & Srarar -t eF-grerd iR ava & forg off w=igw um

CLER AL RS
TRy Y gt g ot @ 3 e

[Question ID = 13543]

1. St g3 garsal [Option ID = 24170]
2. ¢ 3R dYg [Option ID = 24171]
3. HiY [Option ID = 24169]

4. T [Option ID = 24172]

Correct Answer :-
« TTA [Option ID = 24172]

4) fafafEa T & a3 kel

T it ved 3@ afvaR &) Sl frd A 984 o= draa & 01RrE 39 TRar $1 76 §ds, Wik, gdmasik gids & gay
RaRY @Y ot IgRerTa gferar &1 gt v warel & forg weigR unirelt R Fararar o, STawd, sarg! 3R SR i
TRIT & dg¢ e A B o & 7L I 7Ry 7 uTaT o1 19 &) 9 99 9% JRI 381 & R 3 vl o1 swaurd
Fd A IZHPIAATAT 37 AATE & R Wi & H1g warg i 78 mar 411gRIu F IRl & 397 71l 3 954 oivd AHs< aaRa
3R U & forg, ToW e 3= Ft aralt Tt amnsit & g duR A 13 wara qarsht # o v ema & gdf g, @Ak @
YR, ATl & SaTaT (U=t e-grad 3R dud & forg oft w=rge um



(717 g7 fUawag)
fFrafafEa 3= & 3 &1 ar 3z gdf gFrar w1 3= 82
[Question ID = 13542]

1Y [Option ID = 24168]
HRd [Option ID = 24167]
235S [Option ID = 24166]
YTTE [Option ID = 24165]

Hwnh =

Correct Answer :-
HRd [Option ID = 24167]

5) frafafaa e ) aE 3 ufew)

T Tt vgd 59 uRaR 3t Frelt frd 3 aga o= aa & 5HiRnk 539 wRar &t @ 78 $ds, wiv, gdmasiy gids & guy
uf¥ary &t Wt IgzsrTa givrar o1 gdf v el 3 forg u=igR ot iwTel fird Faramar afv, wrawd, garg 3R s ot
TRIY & T8 Yo HIH A $© 81 HeIA AT Wig e uren o7 179 &) 99 0y 9 TR 194 & fore 3 waral &1 s%aTa
FRd A IFTHIAATAT 39 T & SR A1 T IS Targ ot 7Y 31mar 31 IgRIY & I9R) A 37 79Tal 3t 9gd Fid Gz qaare
3R U F g, oW SreH A= Ft arelt T amneit & e dur A1 gara qarst # o e eme & igdf g, TR @
YR, THTEl & 3(aTaT (U= e=-gad MR dug & fore off w=ige am

(717 gv; fUawag)
QRIY & TR | 31 AAT6] @1 9gd BIA &1 BRI fAuferfad & | #19 a1 781 82
[Question ID = 13545]

1. TYTQI &1 AUR Jgd S AT [Option ID = 24178]

2. TTl & gard a9t of [Option ID = 24177]

3. ATC WioH & o ggr <=M &1 AT ST Ut &Y [Option ID = 24179]
4, TTAl § A WGP 94T 4T [Option ID = 24180]

Correct Answer :-
o T BT ATUR §gd 3T YT [Option ID = 24178]



